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IIpenucnosue

JlanHoe y4eOHO-METOAMYECKOE I0COOMe TPEeNCTaBIIsET
co0oli COOpHUK TPaMMAaTHYECKUX YIPAKHEHUH MO aHTJIMHCKOMY
A3bIKY AN CTYINEHTOB OakajaBpuaTa U MarucTpaTypbl
HanpaBienuil «llpuknangnas marematuka W HUH(pOpPMATHKAY,
«MaremaTuka M KOMIIBIOTEpHbIE HaykKu», «MexaHuka H
MaTeMaTHYeCKOe MOJICJIMPOBAHUE» MHCTUTYTa MaTEMAaTUKH,
WHPOPMAIMOHHBIX ~ TexHoiormd u  ¢usuku.  [locobue
COOTBETCTBYeT TpeOoBaHUsM, 0003HAYCHHBIM B  pabodmx
nporpammax aucuuiuinH - «lIpodeccnoHanbHbl MHOCTpaHHBIN
si3bIK» U «VIHOCTpaHHBIN SI3BIK B JIEJIOBOM M MpOodeccrnoHaIbHOM
KOMMYHHKAIUN.

AKTyanbHOCTh CO37jaHHs M0ocoOusi 00yCIOBJIEHA TEM, YTO
MaTtepuai, NpeIoKEHHBbIH B JAaHHOM METOAMYECKOM IOCOOHH,
MIPEJICTaBISIET COOOM CIIOKHbBIE TPaMMaTHYECKUE TEMbl, KOTOpbIE
HE B IIOJIHOM oOObeMe ObUIM MpPEJACTABICHBl Ha MPEAbLAYIIUX
JTanax  M3y4deHHUs  AHIVIMHACKOro  si3plka.  OTIMYUTENbHOMN
OCOOEHHOCTBIO  JIaHHOTO  y4e€OHO-METOIUYECKOTO  IMOCOOMs
SBJIAETCS TO, YTO B HEM IIPEACTABIEH IPaMMaTUYECKUN MaTepHall,
OCHOBAaHHBIM Ha TMpHUMepax JEKCUKH HpoQecCHOoHaIbHON
HaIMpaBJIEHHOCTH, KOTOPBI  CHOCOOCTBYET  (HOPMHUPOBAHHIO
KOMMYHHUKaTHBHOH, KOTHUTHUBHOMN U JIMHTBUCTUYECKOU
KOMIIETEHIIH Y CTYAECHTOB. B paboTe npencraBiieHbl ynpaxHEHUS
Ha pa3BUTHE U OTPAOOTKY rPaMMATUYECKUX HABBIKOB y CTYJECHTOB
C Y4YeTOM HUX cHenuaabHOCTH. [IpennoskeHHble  aBTOpPOM
YIPaXHEHHUs] IIOMOTYT CTYyJE€HTaM paclo3HaBaThb CJIOXHBIE
rpaMMaTH4eCKHe CTPYKTYpHI MIOCTPOCHUS AHTJIUICKUX
MIPENIOKEHUH, MPABUIBHO IEPEBOAMTH HX, a TAKXKE OBJIAAETh
TEPMUHOJIOTHEN MO CIEUUAIBHOCTH U YIY4IIUTh (POHETHUECKUE
HaBbIKW. JlaHHOE€ moOCOOME pPEKOMEHJOBAHO JJIsi  Pa3BUTHSA
IrpaMMaTH4YECKOW  KOMIIETEHLMH CTYIJEHTOB, JUII  KOTOPBIX
BJIaJICHHME T'PAaMMAaTUKON aHTIHUICKOro S3bIKa SBISETCS BaXKHBIM
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YCJIOBHEM YCIEUIHOH paboThl C¢ TEKCTOM IO CIEHUAIbHOCTH.
Paznensl TpaMMaTuKy, BKIIOYEHHBIE B TocoOue, OTOOpaHbI C
TOUKH 3PEHHUS UX aKTYaJbHOCTU JUI CTYIEHTOB, O0Yy4aroluxcs
YTEHUIO U IOHUMAHHIO HHOS3BIYHON MH(POPMALIUU U aJIEKBATHOMY
IIEPEBOAY HA PYCCKUH SA3BIK.

Marepuasnsl mocobous NpoLuIN anpoOaLKIo HA 3aHATHAX CO
CTYZIGHTAaMH M MOTYT OBITh MCIOJB30BAHBI JJISI ayJAUTOPHON HIIH
CaMOCTOSITENTbHON PaOOTHI.

ABTOp
Kacarkuna TaTtbsina FOpbeBHa,

KaHIUAAT (PUIOTOTHISCKUX HAYK, JOICHT
kadenpsr [IMSAEHC, UAJT



UNIT 1. DEGREES OF COMPARISON

1. Write the words in brackets in the correct form of
the degrees of comparison.
1. We use this method of research because it is the

(interesting).

2. | could solve _ (quick) than he because the
equation given to me was _____ (easy) then the one he was given.

3. The remainder in this operation of division is
(great) than 1.

4. The name of Leibnitzis___ (familiar) to us as that of
Newton.

5. Mathematics is the (difficult) subject this
semester.

2. Put the adjective or adverb in brackets in the necessary
degree of comparison.

1. The scholar’s (significant) contribution to mathematics
was his discovery of analytic geometry.

2. Diophantus’ book was on (high) level than the works of
Egyptian and Babylonian mathematics.

3. (early) records of organized mathematics date back to
ancient times.



4. (simple) types of calculators could give results in
addition and subtraction only.

5. (often used) numbers were two and three.

6. For numbers (large) than two and three, different word-
combinations were used.

7. Even (primitive) people were forced to count and
measure.

8. In the 19th century, mathematics was regarded (much) as
the science of relations.

9. Mathematics is said to be (close) to art than to science.

10. Mathematics becomes the science of relations and
structure in (broad) sense.

3. Put the adjectives in brackets into the correct form
(comparative or superlative degree) to make an accurate
description of computer sizes.

Words and word combinations:

mainfraim  computer -  moiindpeiiM,  «OONBIIOH
KOMITBIOTEPY, CYIIEPKOMITBIOTED

minicomputer — MUHUKOMIIBIOTEP

MiCrocomputer — MUKPOKOMITBIOTED

portable — mopraruBHbIit

desktop — HacTONBHBIN KOMITBIOTED

laptop — mnron (lap — KoNeHN CUASIIETO YeIOBEKa)

notebook computer - HoOyrOyk (KOMIbBIOTEp THIMA
«HOYTOYK»)

subnotebook — yneTpanopTaTHBHBIN HOYTOYK

handheld — pyuroii

palmtop computer—kapmaHHBIii TEPCOHATBHBINA KOMITBIOTEP

1.There are different types of computer. The ... (large)l ...
and ... (powerful) 2 ... are mainframe computers. Minicomputers
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are ... (small) 3 ... than mainframes, but are still very powerful.
Microcomputers are small enough to sit on a desk. They are the ...
(common) 4 ... type of computer. They are usually ... (powerful) 5
... than minicomputers. Portable computers are ... (small) 6 ...
than desktops. The ... (large) 7 ... portable is a laptop. ... (Small) 8
... portables, about the size of a piece of writing paper, are called
notebook computers. Subnotebooks are ... (small) 9 ... than
notebooks. You can hold ... (small) 10 ... computers in one hand.
They are called handheld computers, or palmtop computers.

UNIT 2. ACTIVE VOICE

1. Complete the sentences with the Present Simple or the
Present Continuous.

1. At the moment | (work) on the program for schools.

2. We always (ask) the users, not the managers, what they
(need) from the system.

3. Paul (be) a database expert, so usually he (do) anything
on databases and | (get) the interfaces.

4. We (use) Active Server for this project because it (be)
web-based.

5. Whenever we (finish) part of a project, we (put) a copy
of the software in a subfolder as a record.

6. | (subscribe) to two magazines.

7. Commonly we (use) C++ and JavaScript.

8. Right now 1 (try) to learn how to use Active Server
properly.

9. At the moment we (develop) a web-based project.

10. It’s a magazine for people who (know) what they (do).

11. The computer (not work) because it isn’t plugged in.

12. What Jane (type) now?

13. Helen (talk) online to her friend. They (work) on their
homework together.
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14. 1 can’t connect to the Internet. It (work)?

15. I (Ieave) at 8 o’clock every morning.

16. She usually (work) in the IT department in London, but
at the moment she (do) a training course in Bristol.

17. Michael (check up) his laptop for viruses every day.

18. He (check up) his PC at the moment.

19. He (try) very hard in every game that he (play).

20. Excuse me, | (think) that you (use) my pendrive.

2. Complete the article with the correct form of the verbs
in brackets, Past Simple or Past Continuous.

Last night, while 1 1 (do) my homework, Angela 2 (call)
me. She 3 (say) she 4 (call) me on her cell phone from her Math
classroom in UCLA. | 5 (ask) her if she 6 (wait) for class, but
she 7 (say) that the professor was at the front of the hall
lecturing while she 8 (talk) to me. I couldn’t believe she 9
(make) a phone call during the lecture. I 10(ask) what 11(go
on). She 12(say) her Math professor was so boring that several
of the students actually 13(sleep) in class. Some 14(talk) about
their plans for the weekend, and a student next to her 15(draw) a
picture of a horse. When Angela 16(tell) me she wasn’t satisfied
with the class, |1 17(mention) that my Math professor was quite
good and 18(suggest) that she should switch to my class. While
we 19(talk) I 20(hear) her professor’s yell. “Miss, are you
making a phone call?” Suddenly, the line 21(go) dead. I
22(hang up) the phone and 23(go) to the kitchen to make dinner.
As | 24(cut) vegetables for a salad, the phone 25(ring) once
again. It was Angela, but this time she 26(not / sit) in class.

3. Complete the sentences with the Past Simple or the
Past Continuous.

1. Her computer (crash) when she (search) the Internet.
2. She (print out) her email when the printer (develop) a
fault.
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3. While they (work) on the computer, someone (switch
off) the power.

4. A glitch in the system (shut down) telephone service to
nearly 6 million customers.

5. | (delete) the whole file by mistake.

6. I (google) her name and (find out) that she is the head of
our rival company. 7. We (meet) at the conference a year ago.

8. Mary (type) the text when the screen (go) black.

9. He (change) the battery when the charger (stop) working.

10. He (print) from the multifunctional device when it
(jam) the paper.

11. The printer (run) out of ink while I (use) it.

12. This morning the accountant (try) to save a spreadsheet
and she (get) an error message.

13. The system administrator (test) the network a few
minutes ago.

14. They (study) when the fire (start) in the computer lab.

15. | (text) a message when somebody (call) me.

16. When | (see) him, he (talk) to his groupmates.

17. You (chat) online when the phone (ring)?

18. While we (design) anew program, our rival company
(launch) similar software.

19. When he (troubleshoot) the PC he (find out) what the
problem (be).

20. 1 (try) to send a message when the program (crash).

4. Translate the sentences into English.

1. ¥V Bac xorma-HuOyap BO3HUKAINA Kakue-TH00 TPOOIeMBI
C BalllUM WHTEPHET IpoBaiiaepom?
2. IMouck nHbOpMaIuu HUKOTAA HE OBLT OoJiee yTOOHBIM.
3. Bel korma-HuOyap TOKyMaad dTO-HHOYAb depe3
WnTepuer?
4. MbI cTaiy 04eHb 3aBUCHMBI OT HAIIMX CMapT(OHOB.
10



5. Hyrmac DOurensOapT HE TMOMYYWJI HH KOMEHKH 3a
KOMITBIOTEPHYIO MBIIIIb - CBOE U300peTeHre, KOTOPOEe U3MEHUIIO MUD.

6. Facebook cnmeman IlykepOepra oOgHMM H3 CaMBIX
OorartbIx JIOJei B MHpeE.

7. NHdOopMaIiMOHHBIE TEXHOJIOTUU COBEPIIEHHO M3MEHIIN
Hai o0pa3s KU3HM.

8. CoBpeMeHHbIEC Ta/HKEThl CTAd HEOTHEMJIEMOM 4YacThIO
Halue XU3HHU.

9. YV Bcex mosiBWIACH MPUBHIYKA TIOTYITIUTH' Ha BeO-caiiTe,
9TOOBI HANTH KaKyl0-TO HH(OpMAIIHIO.

10. HMuTepHeT crajd caMbiM TOMYJSIPHBIM  CPEICTBOM
oOmeHus u ooMeHa nHGopMaIuei.

5. Complete the sentences with the Past Simple or the
Present Perfect.

1. You (hear) about Clare? She (give up) her job.

2. The technology (change) a lot recently.

3. Oh dear! I (press) the wrong button.

4. Yesterday Colin (give) me the wrong advice about
getting floppy disk out when jammed and then | (delete) the stuff
off the hard disk.

5. She just (load) the new software.

6. You ever (do) any computing?

7. I always (like) computing.

8. I (make) a back-up copy last month.

9. I (make) a back-up copy recently.

10. My friend just (buy) a new tablet.

11. I already (edit) the text.

12. You (receive) my email yet?

13. 1 (go) to the Science Museum last weekend and (take)
some photos there. 14. You ever (buy) anything on an auction site
like eBay?

15. We (change) the ISP last month and we (not have) any
problems with it so far.
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16. I last (access) the Internet from my mobile phone.

17. You (try) restarting your computer? — Well, I (restart) it
5 minutes ago.

18. You (enter) your password yet?

19. You (enter) your password to log on to the website?

20. You (receive) my email yet? — | (not receive) anything
from you today. — You (check) your junk mail folder?

6. Complete the sentences with the Past Simple or the
Past Perfect.

1. When the manager (come), | already (send) an email.

2. When | (return) with my camera, the bird already (fly)
away.

3. We (not need) to queue because | (book) the tickets
online.

4. We (finish) our new project last week. We already (do)
several projects before that. 5. What you (do) on the Internet
yesterday?

6. I (make) a back-up copy before my PC (crash).

7. He (call) the technical specialist because the printer
(jam) the paper.

8. The desktop computer (not switch on) because
somebody (disconnect) it by mistake.

9. He (spend) two hours repairing the computer before he
(manage) to solve the problem.

10. The computer automatically (delete) the files that you
(not save).

11. I (compress) the file before I (send) it by email.

12. 1 (receive) much spam mail, so | (change) my email
address.

13. When | first (turn it on), it (report) a hard disk failure.

14. When | (go out) I (remember) that | (forget) to turn off
the computer.

15. When 1 (leave) the office, everybody already (go)
home.
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16. The webinar already (start) by the time we (arrive).

17. 1 (feel) very tired when | (get) home, so I (go) straight
to bed.

18. He (be) surprised when he (get) an email from her,
because she (not write) to him before.

19. When the manager (come) back, Jim already (finish)
the work.

20. Peter (say) that he always (want) to be a software
designer.

7. Read the sentences below, define the tense of the verbs
in bold type and translate the sentences into Russian.

1. Use of basic mathematics has always been an integral
part of individual and social life.

2. Mathematics evolved from counting.

3. Mathematics is used in many fields.

4. Modern maths is composed of many different divisions.

5. Charles Babbage designed a machine that became the
basis for building today’s computer in the early 1800s.

6. An angle is the union of two rays which have a
common endpoint but which do not lie on the same line.

7. Numeral systems have been many and diverse.

8. Mathematical discoveries have been made throughout
history.

8.The present simple or the past simple. Put the verbs in
brackets in the correct forms.

1. The problem of constructing a regular polygon of nine
sides which ............. (require) the trisection of a 60° angle
......... (be) the second source of the famous problem.

2. The Greeks ......... (add) “the trisection problem” to
their three famous unsolved problems. It ......... (be) customary to
emphasize the futile search of the Greeks for the solution.
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3. The widespread availability of computers ...............
(have) in all probability changed the world for ever.

4. The microchip technology which ............ (make) the
PC possible has put chips not only into computers, but also into
washing machines and cars.

5. Fermat almost certainly ............ (write) the marginal
note around 1630, when he first ............ (study) Diophantus’s
Arithmetica.

6. 1 ............ (protest) against the use of infinitive
magnitude as something completed, which ......... (be) never
permissible in maths, one ............ (have) in mind limits which
certain ratio ...... (approach) as closely as desirable while other
ratios may increase indefinitely (Gauss).

7. In 1676 Robert Hooke......... (announce) his discovery
concerning springs.

8. He ....... (discover) that when a spring is stretched by
an increasing force, the stretch varies directly according to the
force.

UNIT 3. ACTIVE OR PASSIVE VOICE

Passives Voice is very common in technical writing
where we are more interested in facts, processes, and events
than in people. For example:

1. Data is transferred from the internal memory to the
arithmetic logical unit.

2. Distributed systems are built using networked
computers.

3. The organization was created to promote the use of
computers in education.

4. A new method for studying geometric figures and
curves, both familiar and new were created by Descartes and
Fermat.
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1. Make the sentences passive. Use “by ...” only if it is
necessary to say who does or did the action.

a) Charles Babbage designed a machine which became the
basis for building today’s computer in the early 1800s.

b) People submerged geometry in a sea of formulas and
banished its spirit for more than 150 years.

c) People often appreciate analytical geometry as the
logical basis for mechanics and physics.

d) Bill Gates founded Microsoft.

e) People call the part of the processor which controls data
transfers between the various input and output devices the central
processing unit (CPU).

f) You may use ten digits of the Hindu-Arabic system in
various combinations. Thus we will use 1, 2 and 3 to write 123,
132, 213 and so on.

g) Mathematicians refer to a system with which one
coordinates numbers and points as a coordinate system or frame of
reference.

h) People establish a correspondence between the algebraic
and analytic properties of the equation f (x, y) = 0, and geometric
properties of the associated curve.

i) In 1946 the University of Pensylvania built the first
digital computer.

2. Translate the following passive sentences.

a) This frame of reference will be used to locate a point in
space.

b) Although solid analytic geometry was mentioned by R.
Descartes, it was not elaborated thoroughly and exhaustively by
him.

¢) Most uses of computers in language education can be
described as CALL.
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d) Since many students are considerably more able as
algebraists than as geometers, analytic geometry can be described
as the “royal road” in geometry that Euclid thought did not exist.

e) Now new technologies are being developed to make
even better machines.

f) Logarithm tables, calculus, and the basis for the modern
slide rule were not invented during the twentieth century.

g) After World War 2 ended, the transistor was developed
by Bell Laboratories.

h) The whole subject matter of analytic geometry was well
advanced, beyond its elementary stages, by L. Euler.

3. Transform the sentences from Perfect Active into
Perfect Passive.

1. She has just typed her report for the conference.

2. The teacher told us that she had checked all the tests.

3. The student will have written his degree work by May.

4. They have learnt a lot of new English words.

5. He hasn’t found the answer yet.

6. I’ve just received my exam results.

7. By the end of the conference, the participants had
discussed a number of important questions concerning the
problem.

8. They will have read two books on topology by the end of
the month.

9. We had planned the meeting months in advance, but we
still had problems.

10. | had discussed the plan of my work with my science
adviser before the end of the class.

4. Turn from Active into Passive.

Model: 1. Scientists introduce new concepts by rigorous
definitions. New concepts are introduced by rigorous definitions.
16



2. Mathematicians cannot define some notions in a precise
and explicit way. Some notions cannot be defined in a precise and
explicit way.

1.People often use this common phrase in such cases.

2. Even laymen must know the foundations, the scope and
the role of mathematics. 3. In each country, people translate
mathematical symbols into peculiar spoken words.

4. All specialists apply basic symbols of mathematics.

5. You can easily verify the solution of this equation.

6. Mathematicians apply abstract laws to study the external
world of reality.

7. A mathematical formula can represent interconnections
and interrelations of physical objects.

8. Scientists can avoid ambiguity by means of symbolism
and mathematical definitions.

9. Mathematics offers an abundance of unsolved problems.

10.Proving theorems and solving problems form a very
important part of studying mathematics.

11.At the seminar, they discussed the recently published
article.

12.They used a mechanical calculator in their work.

13. One can easily see the difference between these
machines.

14.They are checking the information.

15.The researchers have applied new methods of research.

16.They will have carried out the experiment by the end of
the week.

5. Use the correct tense / voice form of the verb. Model:
A lot of knowledge (to accumulate) in the second half of

the 20th century. A lot of knowledge was accumulated in the
second half of the 20th century.
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1. In the early ages, primitive counting (to do) with the help
of gestures, objects, fingers and toes.

2. The work of Leibniz (to publish) several years before
Newton’s results appeared in print.

3. In the past, people could not foresee that their life (to
change) radically due to technological advances.

4. Scientists (to make) their discoveries due to the
achievements of their predecessors.

5. Mathematics (to be) a science of numbers before it
became a science of relations.

6. Archimedes (to make) his discovery while (to take a
bath).

7. All spheres of life (to benefit) from computers in the
future.

8. Many problems of artificial intelligence (not to solve)
yet.

9. A lot of useful gadgets (to appear) in the last 10 years.

10. Nowadays, science and technology (to develop) at a
great speed.

11. It is believed that in the future computers (to make)
people’s life still more comfortable.

12. Mathematics (to contribute) the most to the
development of computer science. 13. Without the computer, the
present-day achievements of many sciences (to be) impossible.

14. Very little (to know) to us about the life of Euclid.

15. Einstein (to be) young when he developed the theory of
relativity.

16. Lobachevsky’s new idea (to remain) unnoticed for a
long time.

17. Till his dying day, Galileo was true to his ideas, though
he (to renounce) them before under the pressure of the Inquisition.

18. Some new branches of mathematics (to develop) in the
20th century.

19. It (to take) mathematicians over three hundred years to
prove Fermat’s last theorem.
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20. Mathematical language (to characterize) by its
symbolic nature, brevity and precision.

Rewrite the following passages in the Passive Voice

A. Charles Babbage, an English professor of mathematics,
built the first computer in 1827. They called it a "Difference
Engine". Babbage also devised the basic principles of the modern
computer. He spent much of his own money on his inventions. In
1834 Babbage designed a more complex "Analytical Machine"” — the
world's first digital computer with a memory and programming, but
couldn't get the finance to build it. People forgot about Babbage's
machine till 1937 when they rediscovered his papers.

B. The school provides the Internet for students to conduct
research and communicate with others in relation to schoolwork.
They give the access to network service to those students who
agree to act in a responsible manner. The staff thinks that access is
a privilege, not a right. They expect that the user will follow the
certain rules of behavior.

UNIT 4. QUESTION STRUCTURE

1. Write questions to the answers. Use the prompts in
brackets.

1. (essential / to update / your antivirus protection) — Yes,
it’s absolutely necessary.

2. (a hacker) — It’s a person who illegally accesses
somebody else’s computer over the Internet.

3. (your current ISP) — Yota.

4. (the Internet connection / fast enough) — No, not at all.

5. (an optical sensor / of the mouse) — It’s underneath.

6. (the spreadsheet) — It’s in the ‘documents’ folder.

7. (there / batteries / in your camera) — No, I haven’t
inserted them yet.

8. (possible / to convert the file / into pdf) — Yes, it’s quite
easy to do.
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2. Ask special questions using the words in parentheses.

1. There are really two types of problems involved here.
(How many?)

2. Having understood the ideas, we can simplify our
notation. (When?)

3. Being interested in set theory, he never missed his
special course. (Why?)

4. Rational functions are functions involving an additional
operation of division. (What?)

5. A point representing a variable is called a variable point.
(How?)

6. The students studying the theory of sets find this
statement interesting. (Who?)

7. Equations containing one or more variables to the first
power only are linear in one or two variables. (What?)

8. We can find that some elements form a smaller group
inside the big one. (What?)

9. Groups can arise in many quite distinct situations. (In
what cases?)

10. When speaking of quantities, we shall have in view
their numerical values. (What?)

11. The meanings of these words are often confused in
speech. (Where?)

3. Put questions to the following sentences.

1. N. Wiener, the father of Cybernetics, is the author of 200
scientific papers and 11 books.

2. Wiener’s mathematical prodigy helped him obtain his
doctorate in science at the age of 19.

3. He had laid the foundations of the new science and
coined the title Cybernetics.

4. The use of the word Cybernetics, however, goes back to
Plato, who applied it to the science of steering ships.
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5. The French scientist Ampere (XIX c.) used the same
word, Cybernetics, for the study of the control of society.

6. Wiener’s definition of Cybernetics is still generally
being used.

7. Cybernetics bears all the hallmarks of an explosive
science.

8. Man has been building more and more powerful
computers since 1940s.

9. Nevertheless, man has remained computer’s slave as he
has still to control them.

10. The Third Industrial Revolution with computers
capable of controlling themselves is looming on the horizon.

11. One is justified to call cybernetics a veritable 20th
century Queen of Sciences.

12. The social sciences will have much to gain from
Cybernetics in the future. 13. There is no realm of human activity
in which Cybernetics will have no role to play in the future.

4. Put the questions to the following sentences.

1. A. M. Turing pioneered research in computer logic,
decidability theory and artificial intelligence.

2. It is clear that the intellectual capabilities of a human
being are directly related to the functioning of his brain.

3. The ability to solve certain types of problems has been
studied and made the basis of intelligence tests, but the generality
and validity of these tests are disputable.

4. Newton, for example, might have scored low on such tests
when he was an adolescent (11-16); yet, he is estimated by some
researchers to have had an Intelligence Quotient (1. Q.) near 200.

5. One of the shortcomings of these tests is that they predict
little concerning the development of a person’s intelligence,
especially what problems he could learn to solve.

6. The ordinary conception of human intelligence is that it
is limited, but it can learn and, thereby, improve its performance of
certain tasks with time.
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7. The central goals of artificial intelligence are to make
computers more useful and to understand the principles which
make intelligence possible.

8. Computers are ideal experimental subjects, for they
exhibit unlimited patience and require no feeding.

9. Moreover, it is usually simple to deprive a computer
program of some piece of knowledge in order to test how
important that piece really is.

5. Read the sentences below, define the tense of the verbs
in bold type and make up questions.

1. These numbers are called the addends.

2. Euclid taught in Alexandria.

3. Multiplication can be checked by interchanging the
multiplier and multiplicand.

4 Pythagoras was a great mathematician.

5. Euclid's Elements has been translated into many
languages.

6. Algebraic expressions may be given a simpler form.

UNIT 5. THE PARTICIPLE. ITS FORMS AND FUNCTIONS
1. Read and translate the following sentences in which:

a) Participle I Active is used as an Attribute:

1. The line passing through these two points is a diameter.

2. The scientist working at this method is well known.

3. Maths is a science requiring professionals, not amateurs.

4. Yesterday the President of the company received an e-
mail informing him about the arrival of his business partners.

5. Most mathematicians are men of genius having
extraordinary mental abilities.

b) Participle | Passive is used as an Attribute:
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1. The examples being given justify what has already been
proved.

2. The solution of the problem being considered can be
expressed in other ways. 3. The methods being applied seem rather
complicated.

4. The quantity being defined is related to the volume of
this container.

5. The device being used in our laboratory should be
improved.

c) Participle 11 is used as an Attribute:

1. A number written in front of an algebraic expression is a
coefficient.

2. A dot placed between any two numbers is sometimes
used as a sign of multiplication.

3. Some questions asked by the teacher are to be stated
more precisely.

4. The results so far received do not satisfy us.

5. The methods used in solving the problem were the same.

d) Participle | (Active, Passive) is used as an Adverbial
Modifier:

1. Being close to the solution of the problem, he published
the results received. 2. When using mathematical language, we
avoid vagueness and unwanted extra meanings of our statements.

3. Being spread throughout the world, the Internet provides
the connection of networks to enable computers and software to
communicate.

4. While considering the group concept, the students must
remember four axioms.

5. Being reduced the fraction does not change its value.

e) Participle Il is used as an Adverbial Modifier:

1. Expressed in terms of symbols, these relations produce a
formula.

2. When used as scientific terms, these concepts have
different meanings.
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3. If designed and devised in a proper way, the symbolic
language becomes universal.

4. When given the information, they were able to complete
the research.

5. When asked about the measure of the circumference, the
pupil could not say anything.

f) Perfect Participle (Active, Passive) is used as an
Adverbial Modifier:

1. Having obtained the necessary devices, we could finish
our experiment.

2. Having become familiar with the main laws of statics,
we can study the laws of dynamics.

3. Having made a lot of experiments, Faraday discovered
the electromagnetic induction.

4. Having picked out the product corresponding to these
tables, we obtained a coordinate system for the space.

5. Having been properly approached, the problem appeared
easy to solve.

6. Having been invited to the conference, the scientist
started preparing his plenary report.

2. Answer the following questions using the model.

Model 1: Sp. They used some new method of definition.
Did it give good results?

St. Yes, the method used gave good results.

1. They made some measurements. Are the measurements
accurate?

2. They received good results. Do these results satisfy
them?

3. They demonstrated some experiments. Do these
experiments relate to your work?

4. He has measured the volume of the container. Is the
volume very large?
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5. You have found this relation. Does it remain constant
under ordinary conditions?

6. You have determined the length of this line segment.
Does this length equal 10 centimeters?

Model 2: Sp. He works at the Bureau of Standards. Does
he deal with the units of measurement there?

St. You are right. Working at the Bureau of Standards, he
deals with the units of measurements.

1. They follow that new method. Will they achieve good
results?

2. We know length and time. Can we define velocity?

3. You were interested in these results. Did you discuss
them?

4. The experiment was very important. Was it made
accurately?

Model 3: Sp. Now, you have found the relation between
these three lengths.

Can you define the volume?

St. Yes, having found this relation, we can define the
volume.

1. Now, you have found the length in meters. Can you
convert it into English yards?

2. They have just tested the new equipment. Will they put it
into operation?

3. They have just measured the area. Can they show us the
results?

4. They have calculated the sum of the areas of the two
smaller squares. Will they find the area of the largest square?

3.Complete each of the sentences below by choosing one
of the Participles given in parentheses.

1. An algebraic expression is one in which several numbers

(representing, represented, having been represented) are

connected by signs ... (being indicated, indicated, indicating) the
operations and their order.
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2. ... (Defining, Having defined, Being defined) the first
and the second lengths, we may find the area.

3. We explained the binary system ... (being given, giving,
having been given) a specific example.

4. We can always get a closer approximation ... (adding,
added, having been added) digits at the right.

5. Unless otherwise ... (stating, stated, being stated), the
values used are taken in the decimal system.

6. No number exists which has a negative value when ...
(multiplied, multiplying, having been multiplied) by itself.

7. ... (Leaving, Having left, Being left) alone, they kept
silence for some time and didn’t know what to speak about.

8. Maths is a device ... (designing, having designed,
designed) to enlarge human power.

4. State the forms and functions of Participles in the
following sentences and translate them.

1. Discussing some interesting problems, they didn’t notice
when somebody came in.

2. Being interested in mathematics, Tom spends more time
on it than on any other subject.

3. Having informed her before, | was sure that she was
waiting for me.

4. Don’t forget to put the lights out when going to bed.

5. Being given two more days, the student could complete
his term paper.

6. Having been considerably improved, the device was
widely used in research.

7. When asked about his experiments, the scientist refused
to give any details.

8. The substance obtained was thoroughly investigated.

9. The phenomenon was rather complicated and the
processes involved are not yet clear.

10. A graph is given showing the dependence of pressure
on temperature.
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11. When crossing the street, first look left and then right.
12. The method followed by Professor Webster A.G. was
accurate.

5. In which of the following English sentences the
italicized group of words will

be translated as:

1. locturnys ycmexa ...

a) Having been achieved the success did not prevent the
scientist from working hard and developing the problem.

b) Achieving success and recognition some scientists stop
working hard.

¢) Having achieved success and recognition, the scientist
went on working hard over his problem.

2. Ucnonb3ys anredpy ...

a) Having used algebra, we can reduce complex problems
to simple formulas.

b) Using algebra, we can reduce complex problems to
simple formulas.

c) Being used, algebra helped us to reduce complex
problems to simple formulas.

3. IloHsB uaero ...

a) Having understood the idea, we can simplify our
notation.

b) Understanding the idea, we can simplify our notation.

¢) Having been understood, the idea turned out to be a
simple one.

6. Transform the following sentences into Participle |
constructions.

Model: The sign that stands for an angle ... The sign
standing for an angle ...

1. The line which passes through these two points is a
diameter.
27



2. If you express these statements in mathematical terms,
you obtain the following equations.

3. A decimal fraction is a fraction which has a denominator
of 10, 100, 1000 or some simple multiple of 10.

4. The mathematical language, which codifies the present-
day science so clearly, has a long history of development.

5. When we amalgamate several relationships, we express
the resulting relation in terms of a formula.

6. If we try to do without mathematics, we lose a powerful
tool for reshaping information.

7. Calculus, which is the main branch of modern
mathematics, operates with the rules of logical arguments.

8. When we use mathematical language, we avoid
vagueness and unwanted extra meanings of our statements.

9. When scientists apply mathematics, they codify their
science more clearly and objectively.

10. The person who looks at a mathematical formula and
complains of its abstractness, dryness and uselessness fails to
grasp its true value.

11. The book is useful reading for students who seek an
introductory overview to mathematics, its utility and beauty.

12. Math is a living plant which flourishes and fades with
the rise and fall of civilizations, respectively.

7. Transform the following sentences using Participle 11
constructions.

Model: 1. The reasons which are given for the study of
mathematics ... The reasons given for the study of mathematics ...

2. When they are expressed in terms of symbols, these
relations produce a formula. Expressed in terms of symbols, these
relations produce a formula. Korma 3Tu OTHOLICHUSI BBIPaXKCHBI
CHUMBOJIaMH, OHHU ...
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1. The procedure which was suggested at the meeting of
the team had a number of advantages.

2. When they are used as scientific terms, these concepts
have different meanings.

3. The formal language which is spoken in this country is
Russian.

4. The tasks which were set for the students to fulfill were
rather difficult.

5. If it is expressed in mathematical terms, this theorem
gives a general method of calculating the area.

6. The sense which is implied in this assertion is not quite
Clear.

7. If it is designed and devised in a proper way, the symbol
language becomes universal.

8. When math is used in any science, it brings precision,
rigor and objectivity about.

9. The theory which was discussed at the seminar aroused
great interest.

10. The code which has been designed by the programmer
is rather inconvenient.

11. The statement which was made by the researcher did
not satisfy certain conditions.

12. The rules that are learnt by the students are very
important for their future professional activities.

8. Translate the following word combinations into
English using either Participle I or Participle I1.

1) pelleHrs, OTBEYalollue HalluM TpeOoBaHUsAM; 2)
HayKa, 00ecreunBaroias BhICOKHI yPOBEHb JKU3HHU 00I1ecTBa; 3)
npubOpsl, H300pETEHHBIE HAIIMMHM WH)XEHepaMH; 4) MeTo/abl
HCCIIEIOBAaHHM, XOPOIIO U3BECTHBIE YUEHBIM; 5) MHp, CO3JaHHBII
Haykoii; 6) yHKUUS, onpeneraeHHasl MOCPeaCTBOM (GOopMyIbl; 7)
npsiMasi, COeIMHSIONIAs ABE TOYKH; 8) yrol, ACIAIINUNA TJI0OCKOCTH;
9) pasnenenHas nuaroHainb; 10) npumeneHHsiit Metos; 11) pabora,
NPOJOIDKEHHAs Ha CIeNyIoIui JeHb; 12) mpenmer, B3ATHIA B
KaueCTBE MOJEIIN.
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9. Read and translate the following sentences. Write out
(in row) the numbers of sentences in which the Participle is used
as:

a) an Attribute

b) an Adverbial Modifier

1. Given two sets X and Y, there is a set whose elements are
those which belong only to one of the two given sets.

2. Expressed in math terms, this theorem gives a general
method of calculating the area.

3. The sense implied in this statement is not clear.

4. Certain properties of the real world can be described
using numbers.

5. When finding the product of multinomials, we make use
of the distributive law.

6. The group of integers under addition has subgroups
comprising all even integers.

7. Lobachevsky wrote a new geometry asserting that there
could be several parallels.

8. Having calculated the area, we can say now that the
formula is exact.

9. Parallel lines are lines extending in the same direction
and being the same

distance apart no matter how far extended.

10. Having supposed the inequality, we obtained the
necessary results.

11. Considering specific physical phenomena, we may see
that one and the same quantity in one phenomenon is a constant
while in another it is a variable.

12. Having started from a system of axioms, we then could
make certain logical deductions.

13. The statements followed by some illustrations were
rather convincing.

10. Change each sentence using either an adverbial
clause of time (after...) or Perfect Participle Active (having ...).
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Model: After we had combined these two groups, we
produced a new set. Having combined these two groups, we
produced a new set. ITocie TOro Kak Mbl OOBECIUHHIN 3TH IBE
I'pyIIibl, MBI ITOJY4YHUJIIM HOBOC MHOXKCCTBO. O6’be,Z[I/IHI/IB OTU ABE
TPYIIIBI, MBI IOJYYHUJIM HOBOE€ MHOKECTBO.

1. After we had considered the phenomena separately, we
managed to establish a proper correspondence between them.

2. Having read the text closely, we understood the problem
correctly.

3. After we had assigned numerals to these points, we
established two one-tone correspondences between a set of
numbers and a set of points.

4. Having obtained different results, we arranged a
discussion.

5. After we had carried out the experiment, we understood
that the machine had certain advantages.

6. Having analysed the situation properly, we found a
solution to the problem.

7. After we had intensified the whole process, we managed
to meet the deadline. 8. After we had tested the new computer, we
came to the conclusion that it was more powerful than the old
model.

9. Having replaced the variable with the proper numeral,
we received a true sentence.

10. After we had checked the result, we could see that it
agreed with the expected one.

11. Having solved the equation, they obtained the
necessary data.

11. Translate the sentences from Russian into English.
State the functions and the forms of the Participles.

1. Mathematicians have developed geometric ideas from
the world around us having many physical objects.
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2. When naming geometric ideas we usually use letters of
the alphabet.

3. The line AB shown below is called a line segment as you
might remember.

4. A line segment is a set of points consisting of the two
end points and all of the points on the line between them.

5. A geometric figure being formed by a set of points is an
abstract concept, it cannot be seen.

6. Having performed the operation of subtraction they
found the difference.

7. Drawing a straight line 1 used a ruler.

8. The program improved by the expert was checked
yesterday.

9. The procedure being fulfilled by the researchers needed
modern equipment.

10. The translated text dealt with the practical use of
geometry.

11. Working in various fields of science Lomonosov also
have much of his time to practical application of natural sciences.

12. Testing the new system over and over they found the
error at last.

13. All the necessary changes having been made, the
experiment showed different result.

14. When asked to compare the two approaches he agreed
immediately.

12. Translate the sentences from English into Russian.
Denote the function of the Participle in the sentences.

1. The student writing a new programme works for our
research department.

2. Solving these problems we must use a new rule.

3. While/ When solving a problem use a computer.

4. Students are considering the properties of sets.

5. The computers being developed now will be extensively
used.
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6. Being written on time, the article was published in the
journal.

7. The system which is being tested seems very
complicated.

8. The proposed method was used in our calculations.

9. The method proposed by the mathematician was used in
our calculations.

10. The method just referred to is of great interest.

11. Translated from the language of mathematics into
everyday language the relation became easier to understand.

12. As seen from the results the information was carefully
collected.

13. When given enough time he will write his paper.

14. Unless properly constructed the device will not be
reliable.

15. He was told about some new developments in this field
of mathematics.

16. Having answered the instructor’s questions, the
student left.

17. Having been given the problem we began to analyse it.

13. Choose the correct form of the Participle.

1. (to name) geometric ideas we usually use letters of the
alphabet.

2. We insisted on the (to follow) notation of the geometric
object.

3. (to divide) both the numerator and the denominator by x
you will get the following expression.

4. When (to speak) with my science adviser | got better
understanding of the latest development in my special field.

5. The properties of the material (to use) in the experiment
now are given in the latest article.

6. The advantages of the new system (to prove) by many
tests are very important.
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7. Two angles (to have) the same vertex and a common
side are refered to as adjacent angles.

8. The concepts (to introduce) at the seminar should be
considered in detail.

9. The (to obtain) difference must be checked carefully.

10. The (to expect) result must prove that this law holds for
similar cases.

14. Change the sentences using the Participle Forms,
follow the model.

Model: I have got a book which deals with computers.
I've got a book dealing with computers.

1) I know the man who teaches you English.

2) Give me the journal which lies on the table.

3) I must see the scientists who work in this lab.

4) The letters which name the angles are A, B, C.

Model: The material which is used in the article is true.

The material used in the article is true.

1) The most prevalent calculator in the United States is the
slide rule, which is based on the principle of logarithms.

2) One of the original calculators was undoubtedly a
version of the Japanese abacus, which is still in use today.

3) Most calculators are based on the fundamental
mathematical principle which is called the binary number system.

4) The calculators which were traced back to the Tigris
Euphrates Valley 5000 years ago are original.

UNIT 6. THE ABSOLUTE
PARTICIPLE CONSTRUCTION
Nominative Absolute Participle Construction
(CamocTosiTeJbHBIN PUYACTHBIH 060pOT)

CaMocToATeIbHBIH NPUYACTHBIH O00OPOT — 3TO TaKoM
000pOoT, B KOTOPOM IIpUYacCTUE HMEET CBOE COOCTBEHHOE
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MOJJIEXKAIIEE, BBIPAXKEHHOE CYIIECTBHTENbHBIM B  001IeM
najexe WJIH MeCTOMMEHHEM B HMEHUTEJIbLHOM majgexe. B
KOHCTPYKLIMM MOXKET HCIIOJIb30BaThCsl Kak npuyactue I, Tak u
npudactre II. CamMoCTOATENbHBI NPUYACTHBIA OOOPOT MOXKET
CTOSITh B Havajle WIM B KOHLE NpeIoKeHus. Ecin He3aBUCUMBII
NPUYACTHBIH 000OpOT CTOUT B HAayaje MpeNJoKeHHsl, OH
MEPEBOAUTCS HA PYCCKUM A3BIK MPUAATOYHBIM IIPEIJI0KEHHEM
BPEMEHM, MPUYMHBI, YCIOBUS C COI03aMHU KOI/Aa, TaK KakK, eCJIH,
nockoabKy. He3aBucuMblil mnpuYacTHbII 000pPOT B KOHIE
npeaioxKeHusi  OOBIYHO  TEPEBOAMUTCA  CaMOCTOSATEIbHBIM
IIPEIOKEHUEM (MHOTJa CO CJIOBaMH NMPH 3TOM, NPUYEeM U IIpU
IOMOIIIM COK030B a, W, HO). MHorma mpemmor “with” BBOAUT
CaMOCTOSITENIbHBIM MPUYACTHBIII 00OpOT, YTO HE BIUSAET Ha
nepeBoa. B mpeasiokeHHHM HE3aBUCUMBINH MPUYACTHBI 000pOT
BblIeJIsieTcs 3ansTOH U BBINONHIET (DYHKIHIO OOCTOSTENBCTRA.
CamocTosiTenbHbIe [IpUYaCTHBIE 000pOTHI LIUPOKO
yHoTpeOAIOTCA B JINTEPATYPHBIX MPOU3BENEHUSAX U B HAyYHOU
JTUTEpaType, HO PeIKU B OOBIYHON peyH.

The classroom being occupied, they had to wait a little.

IMockoabky ayauropus OblIa 3aHATAa, WM [PUILIOCH
HEMHOTI'O ITIOA0XKAAaTh.

The article having been translated, the student showed it
to the teacher.

KOFIla craThs OblLIa NEpeBCACHAa, CTYACHT IIOKa3ajl eé
MIPENoAaBaTEIIO.

Two of them headed toward the director's office, the other
three staying in the hall.

JIBoe M3 HUX HANMPaBWINCh K KAOMHETY AUPEKTOpa, a TPOe
APYrux OCTAJIMCh B KOPUAOPE.

Sydney is the largest city in Australia, with Melbourne
being the second largest.

Cunneit — camblii Oonbinoil ropox B ABCTpanuu, a
Menb0OypH — BTOpO# 110 BEJTMYHHE.

She listened to his story quietly, with her eyes closed.

Omna cirynraja €ro paccka3s CHOKOﬁHO, pHa 3TOM eé riaza
ObLIH 3aKPBITHI.
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1. Read the following sentences, in which the Absolute
Participle Construction is used at the beginning of the sentence.
Translate them into Russian.

1.The dictionaries being brought, we were given texts for
translating.

2. All the preparations completed, we could start the
experiment.

3. The first part of the work having been finished, the
results were published in a journal.

4. The report being well written, it was read with pleasure.

5. Most of the work having been done, we decided to have
arest.

6 The article being difficult, | couldn’t translate it without
your help.

7. The advantages of the new machine being obvious, we
decided to make use of it.

2. Read the following sentences in which the Absolute
Participle Construction is used at the end of the sentence.
Translate them into Russian.

1. They finished the experiment, the result being quite
satisfactory.

2. My friend was asked many questions, some of them
being very difficult.

3. The teacher gave me two abstracts yesterday, both
containing interesting facts. 4. The professor spoke about the latest
achievements in the national economy, his lecture being illustrated
with diagrams.

5. The plan was discussed in details, many scientists taking
part in this discussion. 6. Many results used before remain true for
our case, the proofs being similar.

7. We may use two different methods, the first being a
more general one.
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3. Read the following sentences, translate them paying
attention to the place of the Absolute Participle Construction.

1.The examinations being over, most of the students left the
city.

2. Cybernetics is a well-known branch of science; it being
still developed in the 21st century.

3. Most of the students of our group go in for sports, many
of them being fond of gymnastics.

4. With the value of x being given, the velocity of a body
can easily be computed. 5. The sides of the triangle having the
same measure, the angles opposite these sides have the same
degree measure.

6. The area of a circle is given by the formula A=mnr2, r
representing the radius. 7. Every measurement can be named in
many different ways; the most convenient name being chosen in
every case.

8. With the distance having been defined, you can expect to
find the speed.

4. Change the following according to the model. Use the
Absolute Participle Construction.

Models: a) Since (as) numbers 4.12 and 3.5 are names for
fractional numbers, we may write them as complex fractions.

Numbers 4.12 and 3.5 being names for fractional numbers,
we may write them as complex fractions.

b) After the experimental work had been completed, they
could publish the results obtained.

The experimental work having been completed, they could
publish the results obtained.

1. As the speed of light is extremely great, we cannot
measure it by ordinary methods.

2. After the first question had been considered, we could
pass over to the next one. 3. Since other conditions are equal, the
acceleration will be the same.
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4. After the set of axioms had been accepted, we could
predict many new properties of the system involved.

5. After the theorem had been stated, the students could
begin solving it.

6. After all the necessary changes had been made, the
experiment showed different results.

7. Since a and b are real numbers, the general expression a
+ bi represents a complex number.

8. As the measure of the circumference is given, you can
find the area of the interior of the circle.

UNIT 7. THE GERUND. ITS FORMS AND FUNCTIONS
FORMS OF THE GERUND

1. Study the functions of the Gerund. State their forms.
Translate the sentences into Russian.

a) the Gerund is used as a Subject.

1. Writing a sentence in algebraic form, as we have seen,
involves two steps.

2. Drawing a straight line in one direction gives you a one
way extension.

3. Reducing a fraction means bringing it to lower terms.

4. Reading slowly is useful for beginners.

5. Locating the point on the y-axis gives you the first point
on the line.

6. Knowing the properties of equality will help you decide
whether a sentence is true or false.

b) the Gerund is used as a part of a Predicate.

1. Our task is proving the correctness of the given
statement.

2. The young scientist began experimenting.

3. We expected being given further assistance.

4. This terminology needs improving.
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5. The scientist expected being included in the
experimental group.

6. She stopped investigating the problem as her approach
was wrong.

c) the Gerund is used as a Direct object.

1. We discussed improving the shape of the model.

2. Do you mind being examined first?

3. I don’t remember speaking to him about this fact.

4. Avoid making such bad mistakes.

5. They are busy now reading the text.

6. He suggested taking part in this conference.

d) the Gerund is used as a Prepositional object.

1. He was prevented from finishing his work.

2. We succeeded in accomplishing our task.

3. He insisted on writing the thesis as soon as possible.

4. These computers are capable of solving systems with a
hundred or more unknowns, if necessary.

5. They are concerned with applying their knowledge of the
subject to solving these problems.

6. We cannot agree to testing the new method without
being given additional time.

e) the Gerund is used as an Attribute.

1. What ways of learning words do you find most
effective?

2. This is the method of doing such tasks.

3. I can’t improve my English because I don’t have any
opportunities of speaking it.

4. The idea of using symbols instead of words proved very
helpful.

5. There exists a very efficient algorithm for solving most
linear programming problems.

6. The procedure of reducing a fraction to its lowest terms
is not complicated.

f) the Gerund is used as an Adverbial modifier.
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1. In considering the problem we have to deal with the laws
of motion.

2. The product may be found by multiplying the factors
contained in the given mathematical sentence.

3. We can’t agree to testing the new method without being
given additional time. 4. In naming geometric objects we often use
capital letters.

5. By applying the knowledge of geometry you can locate
the point in the plane.

6. After discussing the problem in detail they found the best
solution.

2. State the form and the function of the Gerund.
Translate the sentences into

Russian.

1. We insisted on carrying out another experiment to check
the results.

2. The absolutely new contribution made by Descartes was
in importing the idea of motion into geometry.

3. This is the basic method of solving problems of statics.

4. 1t is worth noting that the work of the early Arab
mathematicians makes no clear division between arithmetic and
algebra.

5. Since the equation is linear and has constant coefficients
it can be easily solved by using classical differential equation
theory.

6. He also improved the notation for representing the
extraction of roots.

7. Combining the integrals gives the following equation.

8. The preceding definitions have laid the foundation for
considering the variation of a functional.

9. Leonardo’s solution is worth quoting for its elegance.

3. Put the Gerund in the correct form. Use prepositions
where necessary.
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1. She continued (to translate) the text from English into
Russian.

2. He found the product (to multiply) the numerals.

3. She is afraid (to take) the exam.

4. He used a ruler (to draw) a straight line.

5. One must be very careful (to measure) the volume of an
object.

6. They insist on the question (to reconsider).

7. She stopped (to investigate) the problem as her approach
was wrong.

8. The problem (to discuss) various points of view was a
very useful exercise.

9. Measurement is a process (to associate) numbers with
certain objects.

4.Insert prepositions (in, of, to, from, by). You can use the
same preposition

in more than one sentence.

1. His mathematical power, which never failed him to the
end of his life, was employed at this period originating the calculus
of probabilities, and inventing the arithmetical triangle.

2. The mathematician who came nearest solving the
challenge questions issued by Pascal on the cycloid (rukmont) was
John Wallis.

3. But he differs from B. F. Cavalieri (an Italian
mathematician) regarding lines as made up of infinitely small
lines, surfaces of infinitely small surfaces, and volumes of
infinitely small volumes.

4. Leonardo’s favorite method solving many problems is by
the method of ‘false assumption’, which consists assuming a
solution and then altering (u3menenue) it by simple proportion as
in the rule of three (BpruncnuTeNbHBI METO/ B MATEMATHKE).

5. We have succeeded verifying that the increment
(mpupamienue) can be written in the form of the following
equation.
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6. His famous experiment dropping bodies of different
weights from the tower of Pisa enabled him to demonstrate that all
bodies undergo the same acceleration falling towards the earth, a
result which his experiment with light and heavy pendulums
(masTHHKH) also proved.

7. He also discusses solids generated revolving a curve
about an axis, and in the last section deals with the problems of
maxima and minima.

8. The intellectual trend of that time was such as to prevent
mathematics becoming

a popular subject.

9. Since Euler’s equations usually cannot be solved
analytically, one naturally thinks using numerical integration.

10. F. Viet (a French mathematician) succeeded finding 23
of the 45 roots.

5. Change the time clause into the ‘in + Gerund’
structure.

Model: He made a mistake when he was proving the
theorem.

He made a mistake in proving the theorem.

1. The solution of the cubic was, of course, unknown at that
time, but Leonardo showed great ability when he obtained a very
close approximate solution.

2. The middle years of the seventeenth century constitute
the greatest period of mathematical activity, and when we describe
the work of this period it must be remembered that mathematicians
no longer worked in comparative isolation.

3. The fundamental theorem used when one finds extreme
values of functions is the necessary condition that the differential
vanishes at an extreme point.

4. When one considers the mathematical work of J. Kepler,
one is chiefly impressed by the quality of his imagination.
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5. The detailed investigation of this historical question is
lengthy, but it is of sufficient interest and importance when we
give the main facts.

6. We have already said that Henry 1V was much struck by
the ability shown by Viet when he was solving a certain problem.

7. Diophantus ([Iuodant) was satisfied with a single
solution of such equations, and his amazing ingenuity
(mactepctBo) was shown when he dealt with each equation as a
particular case.

8. The variation plays the same role when one determines
extreme values of functionals as the differential does when one
finds maxima and minima of functions.

6. Answer the following questions using ‘by + Gerund’
structure.

Model: How can you solve this problem? (to use
Pythagoras’ Theorem)

We can solve this problem by using Pythagoras’ Theorem.

1. How will the author introduce new concepts concerning
functionals in this section? (to apply some familiar results from the
theory of functionals)

2. How does Napier (a Scottish mathematician) obtain the
notation of a logarithm? (to compare two motions)

3. How does Wallis (an English mathematician) reach
several remarkable results in this work? (often to deduce general
propositions from a number of particular cases)

4. How did he verify this result? (to extract the square root
of (1 —x2), and also to multiply the above series by itself)

5. How can we find six unknowns? (to solve the system of
Six equations)

6. How can we obtain the unknown quantities? (to solve the
triangle)

7. How did mathematicians find a way out of the dilemma?
(to change their conception of what a number is to what we
nowadays call the real number)
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8. How did he obtain a root of several cubics? (to use conic
sections)

9. How does the search begin? (to find the curves that
satisfy the fundamental theorem)

7. Translate the sentences with the Complex Gerundial
Construction.

Bcnomnume! I'epynouanvueiii obopom npu nepesode Ha
pyCCKMIZ S3bIK 6ce20d 86600UMCSL CLOBAMIU: mo, 4mo, mem, 4imo,
KdkK, nocie moeo, Kak.

Model: His having failed the exam was a great
disappointment.

To, 4YT0 OH He ¢JAaJd DJK3aMeH, ObUIO OOJBIINM
Pa3zov4apOBaHHUCM.

1. Our being invited to take part in the conference is very
important for us.

2. We heard of those equations having been solved by the
students at the previous seminar.

3. Do you mind my being examined first?

4. Newton’s having discovered the law of gravitation
contributed much to the world science.

5. We knew of his having translated the text a week ago.

6. On lecturer’s appearing in the hall, there was loud
applause.

7. Their not having done the task was quite a surprise.

8. They know of his presenting a paper at the seminar.

9. His having proved the theorem was very important for
him.

8. Translate the following sentences.

1. He is fond of studying the mathematical theory of
probability.

2. We remember having read very much about two French
mathematicians R. Descartes and P. Fermat.
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3. The students remember having been read a lot of the
importance of Analytic Geometry.

4. Proving theorems is his hobby.

5. Our being invited to take part in such conferences is
very important for us.

6. My favourite occupation is analyzing curves.

7. He doesn’t like studying geometric figures and curves.

8. | remember having told you about Euclidean geometry.

9. After proving mathematical theorems he made a short
summary of it.

10. In spite of being tired the mathematicians continued
their discussion.

11. You will never be able to draw up a graph of an
equation without knowing rule well.

9. State whether the -ing form is the Gerund, the
Participle or the Verbal Noun.

Give your reasons.

1. He was not a professional mathematician, being an
engineer and an architect, but he came into contact with the
greatest mathematicians of his time.

2. We started the reading of English books last year.

3. He repeated Torricelli’s experiments, and showed that
barometric readings really did depend on atmospheric pressure by
obtaining, at the same moment, readings at different heights on
the slope of the hill of the volcano.

4. By considering a number of special cases Cavalieri
finally arrived at a theorem.

5. In the last section of the book various theorems are
proved relating to the centrifugal force on a body moving in a
circle.

6. Even today, despite the simple picture of the real
numbers as the points on a line, university students of mathematics
always have trouble understanding the formal (and highly
abstract) development of the real numbers.
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7. Similarly, most people have difficulty in coming to
terms with complex numbers — numbers that involve the square
root of negative quantities, such asi = — 1.

8. Intuitively speaking, the norm of the difference of two
functions should be zero if the functions are identical, small if the
functions are “close”, and large if the functions are “far apart”.

9. John Pell was a minor seventeenth-century English
mathematician who was mistakenly credited by Euler with having
investigated this equation.

10. Translate into English using the following models:

1. I can’t help doing the task. — 4 ne moey ne cnenathb
3aganne. (He mnpuuATe ydacTuss B OTOH KOH(EpeHIHH; HE
MEPEBECTHU ITOT TEKCT C PYCCKOI'O Ha aHFHHﬁCKHﬁ, HE A0Ka3aTb
9TH TEOPEMBI; HE IPOUYUTATH KHUTY.)

2. It’s no use solving the problem. — Becnonesno pemiatb
3Ty 3aaauy. (IIbITaTbest HATH 3TY KHUTY; OOBSCHAThH 3TO MPABUIIO
ceMy emé pa3; rOBOpUTbH C HUMU Ha ITYy TEMY, HCKaTbhb PCIICHUC
3TOI0 ypaBHeHI/I}I.)

3. We enjoyed reading this book. — Ham nompasunoce
yutaTh 3Ty KHMry. (Coymare JeKIui 3Toro mnpodeccopa;
y4acTBOBaTh B KOH(MEpPEHIMHU; JeNaTh STOT OKJIAa; IMOCeHaTh
CCMHUHApPCKUC SaHHTI/ISI.)

4. Do you mind our attending your lecture? — Bwi ne
gozpaxcaeme, ecin Mbl moceTuM Bamry Jjekuuto? (Eciu on
npeaACTaBUT CBOIO pa60Ty MNEPBLBIM; €CJIKM 1 HEMHOI'O0 OITIO3Jar0 Ha
3aHATHE; €CIM OHA MOIMpPOOYeT MepPeBECTH ITO MPEIOKEHHE elé
pa3; eclii OHU CAAAYT dK3aMEH PaHbIIIE. )

5. 1 remember proving the theorem last week. — Ilomnro,
YTO JI0Ka3blBall 3Ty TeopeMy Ha mpouuiod Henene. (Hutam sToT
TCKCT Ha aHFHHﬁCKOM, y4uuil 3TH CJIOBa, 06CY)KI[8.J'I 9Ty KHUTY C
HHUM, IICPEBOANII OTH CTaTI)I/I.)
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11. Join the two sentences to make one sentence,
beginning with a gerund.

Model: She’s a teacher. It’s hard work.

Being a teacher is hard work / Teaching is hard work.

1.Capital letters are used to name geometrical objects. It is
very convenient.

2. You are to classify these quadrilaterals. It requires the
knowledge of some properties.

3. We are going to locate this point on the y axis. It will
give us the first point on the line.

4. The student intends to divide a circle into a certain
number of congruent parts. It will help him to obtain a regular
polygon.

5. The base and the altitude of a rectangle are to be
multiplied. It will give the product of its dimensions or the area of
the rectangle.

6. Don’t argue! It’s no use. In a crossed quadrilateral, the
interior angles on either side of the crossing add up to 720°.

7. Don’t deny this fact! It is useless. A square is a
quadrilateral, a parallelogram, a rectangle and a rhombus.

8. You are going to divide a heptagon (a 7-sided polygon)
into five triangles. Is it any good?

12. Complete the sentences using a gerund as an
attribute.
1. I didn’t very much like the idea of ... .
. What is the purpose of ... ?
. She had no difficulty (in) ... .
. You have made great progress in ... .
. He was late, and he was afraid of ... .
. Can you imagine the pleasure of ... .
. He always produces the impression of ... .
. | am afraid you do not realize the importance of ... .

00 3O L K~ W
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13. Complete the sentences using a gerund as an
attribute.

. I didn’t very much like the idea of ... .

. What is the purpose of ... ?

. She had no difficulty (in) ... .

4. You have made great progress in ... .

5. He was late, and he was afraid of ... .

6. Can you imagine the pleasure of ... .

7. He always produces the impression of ... .

8. I am afraid you do not realize the importance of ... .

W N -

14. Complete the second sentence so that it has a similar
meaning to the first one. Use the word in bold and other words to
complete each sentence.

(forward to, interested in, prevents from, am used to,
feel like, can’t stand, apologized for, suggest)

1. I’'ll be happy when I can have a rest after exams. 'm
looking ... a rest after exams.

2. Learning new geometric theorems is something | like
doing. I'm always ... new geometric theorems.

3. If I study a lot at night, it keeps me awake.... Studying a
lot at night ... sleeping.

4. | often operate the computer at university. | ... the
computer at university.

5. He didn’t want to take the books back to the library. He
didn’t... the books back to the library.

6. He hates it if he has to do a lot of boring exercises. He ...
a lot of boring exercises. 7. ‘I’'m sorry. I’ve broken the speed
limit’, said Sue. Sue ... the speed limit.

8. Let us write a new program. | ... a new program.
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15. Translate the following sentences paying attention
to the use of the Gerund.

1. The students expected being included in the
experimental group.

2. Drawing a line in one direction gives you a one-way
extension.

3. In naming geometric objects we often use capital letters.

4. We discussed improving the shape of the model.

5. The method is certainly worth applying.

6. He remembered having seen her at the last conference.

7. You should avoid changing the direction of your further
investigation.

8. He suggested exchanging information on the subject.

9. They could not avoid including him in their research
group.

10. This terminology needs improving.

11. One cannot feel the Earth’s moving.

12. The idea of using symbols instead of words proved very
helpful.

13. Writing a sentence in algebraic way involves two steps.

14. Our task is proving the correctness of the given
statement.

15. The researchers began looking for another solution.

16. Translate these sentences paying special attention
to the ing-forms.

1. Newton created his theory of Universal Gravitation
being only 24 years old.

2. All the necessary changes having been made, the
experiment showed different results.

3. With the work completed, it was possible to use the new
data in the article.

4. We have defined these sets as being equal.

5. It is no use performing this operation now.
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6. Having reduced the fraction, we obtained the expected
result.

7. When working with these signs, one must be very
careful.

8. On obtaining the difference, one must check the result by
addition to make sure it is correct.

9. Being reduced to its lowest terms, the fraction is not
changed.

10. Reducing the fraction to its lowest terms leaves it
unchanged.

11. The speed of light being extremely great, we cannot
measure it by ordinary means.

12. Other things being equal, the given relationship holds
for this particular case.

13. With the distance defined, you can expect to find the
speed.

14. With an object moving at constant speed, the distance
covered is directly proportional to time.

15. The sides of triangles having the same measure, the
angles opposite these sides have the same degree measure.

16. The two scientists doing research independently made it
possible to create two essentially different ways of solving the
same problem.

UNIT 8. THE INFINITIVE.
ITS FORMS AND FUNCTIONS
The Forms of the Infinitive

The Functions of the Infinitive

1. Translate the following sentences paying attention to
the function of the Infinitive as:

I. Subject.

Models: a) ‘To’ + Infinitive before the predicate (It’s
formal)

To make mistakes is easy. Cosepuiams OMIMOKH JETKO.
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b) It + the Infinitive clause (‘It’ is a preparatory subject).
It’s easy to make mistakes. Jlerko cosepuiams OMHOKH.

1. To solve the equation is to find the numerical values of
the unknowns.

2. It’s not difficult to define which of the numbers is less.

3. To evaluate an expression means to substitute the
numerical equivalents for the letters.

4. To find the logarithm of the given number means to find
its exponent.

5. To prove a theorem in a deductive system is to show that
it is a necessary logical consequence of some previous proposition.

6. It’s necessary to determine this distance for further
research.

7. It’s difficult to refuse his invitation. 8. It’s nice to be
sitting here with you.

1. Object.
Model: You have the right to remain silent.

VY Bac ecTb paBo xpanums MOITYAHUE.

1. They expected to be given complete information.

2. This force caused the body to move.

3. The use of algebra in geometry permits one to speak of a
space of more than three dimensions.

4. We were asked to solve the equation in three variables.

5. The students wanted to investigate the properties of
square matrices.

6. The word “smooth” is used to suggest that the motion of
a point has no abrupt changes of direction.

7. The teacher told me to speak loudly in order that
everyone could hear me.

8. She wants to visit a lot of exciting places in Europe.
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I11. Adverbial modifier of purpose or result.

Models: a) He went to the florist to buy a bouquet of
flowers.

OH momien B HBGTOHHBIﬁ MarasvuH Kynumto 6yKeT IIBE€TOB.

(adverbial modifier of purpose).

b) 1 woke one morning to find myself famous.

OnHaxasl yTpOM s MNPOCHYICS U OOHapydcun, 4TO S
3HAMCHUT.

(adverbial modifier of result).

c) after too + adjective (ciuwxom ..., umobor)

after adjective /adverb + enough (0oocmamouno ..., umobwt)

He is too tired to answer my questions.

On cruwkom yCTﬁBHIHfI, 4yTOo0Bl OmMeEewams Ha MOH
BOIIPOCHI.

The text is difficult enough to understand it at once.

TekcT docmamouno CIOXKHBIM, YTOOBI NOHAMbL €ro Cpazy
XKeE.

1. To understand some formulas, she used the text-book of
mathematics.

2. To raise a power to a power, it is sufficient to multiply
their exponents.

3. To simplify an expression in two unknowns, one
transforms it in the same way as an equation in one unknown.

4. To keep the number unchanged in value, we must
multiply it by the same power of ten.

5. He checked the results of the experiment only to find it
didn’t agree with the expected one.

6. He looked around to see them coming up.

7. She went to see her old friend only to find out he was
away.

8. She is clever enough to win the competition.

9. He is too young to stay out so late.
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V. Predicative or Part of Predicate.

Models: a) His course paper is to be submitted in May.

Ero xypcoBasi pabora dondicHa Ovime npedcmasiena HA
PaCCMOTPCHUC B Mac.

b) Her dream is to become a good programmer.

Ee meura — cTaThb XOpouuM IporpaMmMucCTOM.

(The Infinitive follows the subject expressed by the words:
task, method, plan, problem, aim, purpose and function).

c) part of a modal predicate

He must have studied several proofs of this theorem.

OH, BEpOSTHO, M3YYHJI HECKOJBKO JOKA3aTeNIbCTB ATOU
TCOPCMBI.

1. Fortunately, people can visualize or picture two- or
three-dimensional ideas by means of drawing on paper.

2. They should have used some graphs.

3. They might have permitted them to reason from visual
pictures.

4. A more general treatment of the whole subject is to be
found in the monograph. 5. Our aim is to master this subject.

6. We are to use a similar device in triple integrals.

7. They had to change the date of the conference.

8. Their intention was to win the first prize in the
competition.

V. Attribute (in post-position)

Models: a) after abstract nouns and concrete nouns.
There is every reason to believe it.

Ectb Bce ocHOBaHUs nosepumos 3TOMY.

| want some paper to write on.

MHe Hy>kHa Oymara 0711 nucbma.

b) after pronouns.

I have nothing to tell you.

MHue Hedero Tede ckazamo.

c) after adjectives.
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I’m sorry to leave you.

MHe xayb yxooums OT Bac.

I was glad to meet him.

a 6BIJ'I pana nosHakomumuvcs C HAM.
d) after the last, the first, the only
She was the last to leave the room.
Ona nocneoueil gviuiia N3 KOMHATHI.

1. The terms to be insisted on are as follows.

2. The first issue to be considered is one about the coming
examinations.

3. All operations to be performed in succession will give
the expected result.

4. This student was the first to prove this law.

5. There will be six independent elements to be determined.

6. The proof to be tested concerns the conditions of
function series convergence.

2. Read the sentences and state the form and the function
of the Infinitive.

Translate into Russian.

1. Einstein was to develop the theory of relativity which
replaced Newton’s theories of gravity.

2. It’s important to save your work before you switch off
the computer.

3. Students are under enormous pressure to learn huge
amounts of vocabulary.

4. It’s easy to be wise after the event, as the saying goes.

5. We assembled to discuss and arrange our plans.

6. He was the first to claim to have solved the problem.

7. ’'m glad to have finished the translation of this article.

8. The plane to be constructed should contain two
intersecting lines.

9. We need to introduce a function in order to solve the
equation.
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10. They must be determining now whether a given
equation is or is not solvable algebraically.

11. Jacobi was the first to apply elliptic functions to the
theory of numbers.

12. To create one of the great masterpieces of all
mathematics Lobachevsky had to have been working for twenty
years or even more.

3. Open the parentheses and give the correct form of the
Infinitive.

1. The methods (to describe) the motion are widely used.

2. In order (to find) the square of a number you are to
multiply it by itself.

3. Had Gauss found Clerk Maxwell’s equations of the
electromagnetic field, he might (to be satisfied).

4. Differential geometry may roughly (to consider) as the
study of properties of curves, surfaces, and their generalizations by
means of the calculus.

5. He was happy (to work) weeks or even months over his
research and (to obtain) expected results.

6. Likewise on the surface of a sphere the coordinates in
this case can (to think) as latitude and longitude.

7. The scientist had to show his mathematical genius (to
make) discoveries in astronomy surpassing those of all his
predecessors.

8. To show the way in which common logarithms are used
to facilitate calculation attempts should (to make).

9. He pretended (to look) for necessary information via the
internet.

4. Change the verb in parentheses to a to-infinitive or-
ing-form as appropriate.
1. Using algebra | like (reduce) complex problems to
simple formulas, but I dislike (spend) too much time on such work.
2. We were meant (give) the definition of a curve but that
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would have meant (consider) two fundamental problems of
analytic geometry.

3. As you're so keen on (get) to know more about
education in Oxford University, you’ll probably be keen (visit) it.

4. | regret (inform) you that you have not been enrolled for
this course.

5. Fortunately | remembered (hand) in the abstract by the
end of the week, but to be honest I don’t remember (do) so.

6. She stopped (make) a speech about outstanding
mathematicians and he decided (ask) her some questions.

7. To stop (think) about things for a while is something we
all need to do.

8. Have you ever considered (study) mathematical analysis;
it is considered (be) one of the most difficult subjects of
mathematics.

5. Choose the correct form of the Infinitive or the
Gerund.

1. I’ll never forget ... four more or less happy years in
Cambridge.

a) to have spent; b) having spent

c) spending d) to spend

2. Only to enumerate all the fields of mathematics he
enriched would take more space in the book than can ... to one
man.

a) have been devoted b) to be devoted

c) to devote d) be devoted

3. This time next week I'll ... to the lecture on the
applications of the calculus to curved surfaces (twisted curves).

a) be listening b) being listened

c) listen d) have listened

4. Some of the mathematicians in the 19th century, notably
Leibniz and De Morgan, went on ... of adding logic itself to the
domain of algebra.

a) to be dreaming b) to dream
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¢) being dreamt d) dreaming

5. ’m sorry ... the problem of determining the equation of
a locus.

a)have not studied b) not studying

C) not to have studied d) being not studied

6. Teachers do not allow ... and ... in the exams

a) to speak / cheat

b) to be spoken to / be cheated

c) speaking / cheating

d) speaking / to cheat

7. The accuracy of the root needs ... Why not ... the
number to the power?

a) being checked /raising

b) be checked /be raised

c) to be checked /raise

d) checking /to raise

8. The theory of analytic functions of a complex variable

. one of the greatest fields of mathematical triumphs in the

nineteenth century.

a) should have been b) were to have been

¢) must have been d) might have been

6. Change the following sentences using infinitive to
express the purpose.

Model: We have to subtract this number from the sum
obtained because we want to check the result of addition. — To
check the result of addition, we have to subtract this number from
the sum obtained.

1) We must know the details because we want to
understand the situation. —

2) You must do the following because you want to operate
this machine. —

3) He put the figures in a table because he wants to look at
the data. —
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4) He included the empty set at the beginning because he
wants to have a complete table.

5) We made a conjecture and then proved this because we
want to have the correct procedure. —

7. Match a line in A with a line in B.
1) We apply the Euclidean a) to denote sets.

algorithm b) let us use the unit circle.

2) We use the symbol e ¢) to mean “is an element of .

3) We use the braces { } d) we return to one-dimensional

4) To clarify this idea geometry and line segments.

5) We draw a picture e) we must find a statement that

6) To fix our thoughts conforms to the rule stated above.
7) To find the negation of f)to express GCD as a linear
some statements, combination.

8) In order to introduce the g) to show the physical realization
concept of measure, on this vector sum.

h) we present some examples of set.

8. Read these sentences and state the form and the
function of the Infinitive. Translate into Russian.

1. To solve the equation was not difficult for her.

2. The speaker at the conference didn’t like to be
interrupted.

3. The article is difficult to translate.

4. He is always the first to come to the University.

5. The method to be applied is rather complicated.

6. He worked hard in order not to be behind the other
students.

7. Our aim is to extend the definition.

8. [Itisn’t easy to speak any foreign language.

9. Translate into Russian:
* To convert an improper fraction into a mixed number,

break it up into the sum of an integer and a proper fraction
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* To reduce a fraction to its lowest terms, divide the
numerator and the denominator by their highest common factor
(or: measure, or: divisor)

* To find the sum (the difference) of two unlike fractions,
change them to like fractions (fractions having their least common
denominator) and combine the numerators

* To find quotient of two fractions, multiply the dividend
by the inverted divisor

* To find the product of two fractions, multiply the
numerators together and the denominators together

* To reduce a fraction to higher terms, multiply the
numerator and the denominator by the same number.

10. Choose the correct variant of translation.
1. It’s difficult to study a foreign language.

a) Omo mpyoHwlli UHOCMPAHHBIU A3bIK OJIS1 U3YUEHUSL.
b) Tpyowno usyuams uHocmpanHvlil A3bIK.
¢) Hzyuams unocmparnnblii 51361k 66110 MPYOHO.

2. He hopes to pass his examination in mathematical
analysis.

a. On naoeemcsa coamv dK3aMeH NO mamemamudecKomy

aHanu3y.
b. On naoesncs na coauy sK3amena no MamemamuyeckoOMy

aHanu3y.
c. Oun Oydem Hadesmbcs Ha coady 9K3AMeHA NO
Mamemamuyeckomy aHauu3y.

3. She was writing the dictation very carefully in order not
to make mistakes.

a. Ona Hanucanra OUKMAHM OHeHb OCMOPONCHO U He
coenana oumubox.
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b. Ona nucara ouxmanm 6HUMAMENLHO U 68 NPABUTLHOM
nopsioke, He denas OUUOOK.

c. Ona nucana OUKmManm O04eHb GHUMAMENIbHO, YMoObl He
coenamov ouuUbOK.

4. I'm sorry not to have seen this film in English at the
lesson.

a. Mue ocanvb, umo Ha ypoke si He NOCMOmpend 3Mom
@unbm HA AH2IUTICKOM A3bIKE.

b. A coocaneto o mom, umo He NOCMOMPHO SMOM
AHeIUUCKUL punbM HA ypoKe.

c. A ne coorcanero o mom, umo He nocmompen Imom GuiLm
Ha ypoKe AH2IULCKO2O.

4. He read the rule several times to understand it better.

a. On yumaem npasuilo HECKOIbLKO pa3z, 4modvl NOHAMb €20
Jayquie.

b. Ou nmpouuman npasuno HeckoOIbKO pa3s, 4modvl jyyuie
NOHAMb €20.

c. On uuman mnpasuno HecKOIbKO pa3 U HNOHUMAL €20
Jayquie.

5. This is just the person to speak to on this problem.

a. Bom uenosex, o komopom cogopumcs 8 3moii npooneme.

b. Omo kax pas mom 4Yelo6eK, C KOmopsbiM MOMCHO
nozoeopumbsv HA onty memy .

c. Tonvko ¢ amum yenosexom coeopsim 00 smoii I’lp06ﬂ€M€.

11. Identify the non-finite forms of the verb in the
following text: the gerund, the participle or the infinitive.

The Value of Solving Problems in Mathematics
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There is much thinking and reasoning in mathematics. The
students master the subject matter not only by reading and
learning, but by proving theorems and solving problems. The
problems, therefore, are an important part of teaching, because
they make the students discuss and reason and polish up their own
knowledge. To understand how experimental knowledge is
matched with theory and how new results are obtained, the
students need to do their own reasoning and thinking. Of course, it
is easier for both teacher and student if the text states all the results
and outlines all the reasoning; but it is hard to remember such
teaching for long, and harder still to get a good understanding of
science from it. Solving problems, you do your own thinking, and
for this reason, problems form a very important part of teaching.
Some questions raised by the problems obviously do not have a
single, unique or completely correct answer. More than that, the
answers to them may be sometimes misleading, demanding more
reasoning and further proving. Yet, thinking your way through
them and making your own choice and discussing other choices
are part of a good education in science and a good method of
teaching.

UNIT 9. THE INFINITIVE CONSTR UCTIONS.
THE OBJECTIVE WITH THE INFINITIVE.
CONSTRUCTION (COMPLEX OBJECT).

The Objective with the Infinitive Construction (Complex
Obiject):

a) With the verbs: to want, to wish, to like, to love, to
prefer and to desire.

Example. | want you to participate in the experiment.

51 xouy, 4TOOBI BBl Y4aCTBOBAJIHU B 3TOM SKCIIEPUMEHTE.

1. The teacher wanted his students to learn as quickly as
possible. 2. | prefer you to call me by my first name. 3. He would
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like me to change my mind. 4. They wished the article to be
published next month. 5. We want one of her best students to be
granted a scholarship.

b) With the verbs: to order, to ask, to tell, to advise, to
allow, to forbid and to cause.

Example. Did he allow you to take the dictionary? On
paspenui Tede B3STh CI0Baph?

1. Professor permitted us to be helped with the solution of
the problem. 2. We don’t allow students to cheat or talk to each
other during exams. 3. | advise you to look for a new job. 4. They
ordered us to finish our projects until Tuesday. 5. She asked
everybody not to use the office photocopier.

c) With the verbs: to think, to believe, to mean, to admit,
to expect, to suppose, to
consider, to know and to prove.

Example. She knows York to be a historic city in England
with many ancient buildings.

Omna 3Haer, 4To I7Iop1< UCTOPUYECKHUM TOpoJ B AHIIUY, I1Ie
MHOT'O JAPEBHUX 31aHUMN.

1. In the future they suppose students to use computers
instead of text books. 2. We expect you to be able to account for
this mistake. 3. | suppose the sense of beauty to be very personal
and subjective. 4. We consider the algebraic language of analytic
geometry to have both advantages and disadvantages. 5. They
know maths to provide basic tools for computer science.

Complex Object + with Infinitive without ‘to’

a) With the verbs: to see, to feel, to watch, to notice and
to hear.
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Example. Do you feel the Earth move? Ber uyBcTByeTe,
Kak 3eMiid OBHKeTCs?

1. We cannot see a point move along the line. 2. We both
heard him say that | was leaving. 3. The students watched their
teacher draw two perpendicular lines. 4. Nobody heard him
complain about being overworked. 5. He noticed them walk out of
the building together laughing and joking.

b) With the verbs: to let, to make (3acmasnams), to have.

Example. Let him stay up late tonight. Pa3pemure emy
II033KE JICYD CIIaTh CETOJHSA BEYCPOM.

1. She made him accept full responsibility for the accident.
2. Shall I have my secretary send you the details? 3. Let him solve
this cubic equation in terms of substitution. 4. You can’t make her
come on time. She is not punctual. 5. The teacher let his students
use a calculator in the test.

1. Translate these sentences into English using Complex
Obiject.

1. MHue OBl XOTeNOCh, YTOOBI 3Ta 3a7ada OblIa pericHa
npyrum criocobom. 2. Jlekapt (R. Descartes) xoten, d9ToOBI
METOJIbl, HUCIONb3yeMble MaTeMaTUKaMH, OBLIM O0000IIeHb U
pactmmpensl. 3. T'enmit u Tpymomtobue DOiinepa (L. Euler)
MO3BOJIMIIM €My  CTaThb caMbiM  IuioAoBUTHIM  (prolific)
MaTEMaTHKOM 33 BCIO HCTOPHIO €€ CYIIeCTBOBaHHS. 4. YUeHBIC
MOJIararoT, YTO ITA TEOPHUS MOXKET CTaTh OCHOBOM JUIS MOJIy4EHUs
MHOT'MX HOBBIX MJI€¥ B Hayke. 5. B COOTBETCTBMHU C ITOCTYJaTOM
Te€OMETPUH MBI 3HaeM, 4TO Touka M M HampaBJSIOUINI BEKTOp (
ompenenstor npsimyro JuHu0 L. 6. CeromHss MBI 3acTaBisieMm
KOMITBIOTED pelIaTh CJIOXKHBIC 3a7adud, 3allOMHUHATh HEMPOCTHIC
IIEMIOYKH OTIepaIiii, pUCcOBaTh T'Pa(QHKU W BBINOIHITH JAPYTYIO
MIOJIE3HYIO U HYXKHYIO padoTy.
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UNIT 10. THE NOMINATIVE WITH THE INFINITIVE
CONSTRUCTION
(COMPLEX SUBJECT)

The Nominative with the Infinitive Construction
(Complex Subject) Subject + /predicate/ + to — Infinitive.

a) With the predicate in the passive voice: to see, to
believe, to suppose, to expect,

to think, to know, to announce, to report and to say.

Example. He is believed to be a great authority on the
subject. Cyumarom, 4To OH KPYIHBINA CHCIUAIKCT 110 3TOH TEME.

1. Unless stated otherwise, curves are always assumed to be
simple, that is they do not intersect.

2. The binary system is expected to be appropriate to the
nature of an electronic machine.

3. The Earth is known to rotate and as a result it has the
shape of a ball.

4. When the limits of integration to be performed are
stated, the integral is said to be definite.

5. Lack of oxygen is believed to make people lose health.

b) With the predicate in the active voice: to seem, to
appear, to happen, to chance, to prove, to turn out.

Example. His method proved to be the only possible one.
Oxaszanocw, 910 €T0

METO ABJISICTCA €ANHCTBCHHO BO3MOKHBIM METOAOM.

1. I chanced to be passing when she fell and hurt herself.

2. Computers do not seem to be able to use their memories
in the way human beings use theirs. 3. The fundamental concepts
of many branches prove to have been suggested by physical
experiments. 4. This function, whose graph is a line, appears to be
classified as a linear function. 5. The graph turned out to be drawn
without picking up the pencil.
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¢) The predicate to be + adjective (likely, unlikely, sure,
certain).

Example. The computer is not likely to make such
mistakes. Manoseposimio, 94T0 KOMIBIOTED J€TaeT TAKKE OIIHOKH.

1. When the quantity is a constant multiple of another
quantity, they are certain

to be directly proportional to one another. 2. He is unlikely
to know what a discontinuous function is. 3. Such an effect is
likely to be the result of an experimental error. 4. The traditional
role of science seems to make people healthy and the world

a brighter place to live in. 5. Any quantity associated with a
curve (e.g. the coordinates of a point on a curve, the length of a
tangent to the curve) are sure to represent a function.

1. Change the sentences according to the model using the
Complex Subject pattern.

Model: It is believed that he is an efficient specialist. He is
believed to be an efficient specialist. Cunraercst, 4TO OH ONBITHBIM
CIICIHNAJIUCT.

1. It is expected that they will detect the error. 2. It is
believed that he is very accurate in making calculations. 3. It is
known that they have foreseen all the possible mistakes. 4. It is
likely that he has given them explicit instructions. 5. It is unlikely
that they have supplied the laboratory with such complex
equipment. 6. It appears that they are unable to account for this
absurd situation. 7. It seemed that he was an experienced
researcher. 8. It happened so that the error was quickly detected. 9.
It appears that the law holds for all the equations. 10. It is unlikely
that most fundamental processes of arithmetic and algebra should
change a great deal. 11. It was expected that the students knew the
law. 12. It is known that these laws are applied to all kinds of
exponents. 13. It is expected that the students remember these
proportions. 14. It appeared that the procedure was appropriate. 15.
It seems that the computation is correct. 16. It appears that these
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statements are mathematically correct. 17. It is expected that the
scientists will establish an appropriate pattern. 18. It is believed
that the result is of great importance. 19. It is expected that he will
speak on number relations. 20. It is unlikely that he will speak on
the coordinate system.

2. Translate these sentences into English using Complex
Subject.

1. MasioBeposITHO, YTO ATOT IUIaH YTBEPAST Ha COOpPaHUH.

2. HecomMHEHHO, YTO OHHU BBIOpANIM JAPYIyIO CHCTEMY
KOOpJMHAT.

3. OkaszpiBaercs, 4YTO €CIIM  3HAYEHHE  OJHOU
TPUTOHOMETPUUECKON (YHKUMHU 4 OyAeT JaHO, TO BCE OCTAJIbHbIE
¢GbyHKIMH OyIyT OJHO3HAYHO OIMpPEEICHBI.

4. Ilpenmosarany, 4YTO TIOJyYEHHBIE JaHHbIE OyIyT
TOYHBIMHU.

5. T'oBopsT, uto Takoe ypaBHenue (x + 1)2 + y2 = —4 He
MMEET PEeIICHUS U OMHICHIBAET MHUMYIO OKPYKHOCTb.

6. M3BecTHO, YTO TakHe MNOBEPXHOCTH, Kak cdepa umm
AIUTUIIC, XapaKTEPU3YIOTCS KBaAPATHBIMU YPABHEHUSIMHU.

7. HecOMHEHHO, YTO 3HAa4YE€HHE MATEMAaTHKU HEMPEPBIBHO
BO3pacTaer.

2. Replace the Object Clause with Complex Object. See
the models.

Example 1. I would like to draw both axes (she). She
would like me to draw both axes.

1. The astronomers wish to locate this distant object in the
sky. (they) 2. We expect to find the equation of the ellipse with
foci at the points (0,4). (he) 3. We want to use analytic methods to
find the equation of loci. (she) 4. | expect to prove the advantages
of this system of notation in this particular case. (you) 5. He wants
to interpret these facts correctly. (they)
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Example 2. Scientists suppose that non-Euclidean
geometries liberated the science.

Scientists suppose non-Euclidean geometries to have
liberated the science.

1. We know that P. Fermat and R. Descartes came to
develop analytic geometry almost simultaneously. 2. We believe
that Cybernetics is the twentieth century Queen of sciences. 3. |
know that more and more prospective employees take lie-detector
tests. 4. Programmers assume that community networks, like
public libraries, serve citizens and society. 5. He believed that
concepts of importance in science had come to men with great
difficulty.

3. Change the sentences with Complex Object to the
sentences with Complex Subject.

Example. We know the concepts of gravity, of energy and
of limitless space to have taken years to develop.

The concepts of gravity, of energy and of limitless space
are known to have taken years to develop.

1. They believe men of genius to be required to express the
concepts of importance in science. 2. We expect the best
mathematical proofs to be short and direct. 3. | believe CD-ROM
to be going to replace printed books and newspapers. 4. She
supposes him to understand such simple sentences. 5. My science
adviser expects me to take part in the international conference.

5. Choose the correct variant of translation.

1. We expect them to solve this problem.

a. Mul osxcuoaem, umo oHu pewiam 3my 3a0ayy.
b. Mwi srcoanu, ymo onu pewam smy 3a0ayy.

¢. Mol icoem ux, noka onu pewiam smy 3a0auy.
2. They are believed to have done their best.
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a. Onu eepAam, 4mo coenanu 6¢e 603MOINCHOE.

b. Honazarom, umo onu coenanu 6ce 803MONCHOE.

C. HOJZGZCUZM, YUMo OHU COENANU BCE BO3ZMOIICHOE.

3. They appear to have known all about the set theory.

a. Onu NOA6IAIOMCA, umoowl y3Hamb e6ce 0 meopuu
MHOIHCECME.

b. Onu npuwinu u y3Hanu 6ce 0 meopuu MHOICECMS.

C. OKCIS’bl@Clel’l’lCﬂ, OHU Y3HAJU 6Ce O MEOPUU MHOIHCECME.

4. What made the students do the test quickly?

a. UYmo coenanu cmyoenmovl, umoObl BbINOJHUMb MECm
ovicmpo?

b. Umo 3acmaensem cmydeﬁmoe 6bINOJIHAMb mecm
ovicmpo?

C. Ymo 3acmaeuno cmydeﬁmoe 6bINOJIHAMb  mecm
ovicmpo?

5. First-year students are thought to show very good results
at the exams.

a. HepSOKprHuKM, KAk cuumarom, nokKasvledrom OY€Hb
Xxopouwiue

pe3yibmambspl HA IK3AdMeEHe.

b. Cqumaiom, umo nepeoKypCHUKU XOmANnl nOoKaA3amsv O4€Hb
xopouiue pe3ylbmamnvl HA IK3AMeEHe.

C. Cqumaﬂu, umo nepeoKYPCHUKU NOKascyn OY€Hb
xXopouiue pe3yibmambsl HA IK3dMeEHe.

6. Name the Complex Subject and the predicate in every
sentence.

1. Scientists are sure to find a reliable method of
detecting errors.

2. The hypothesis proved to be based on the wrong
assumption.

3. All the circumstances do not seem to have been
properly observed.

4. Certain mistakes appear to have occurred.
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5. A proper interpretation of this fact is likely to be
obtained.

6. The equipment we were interested in happened to be
produced on the line at this factory.

7. Only a century ago the atom was believed to be
indivisible.

8. The operator is sure to find errors in the program
presented.

9. This question is sure to arise.

10. The computation is expected to have been carried out.

11. Such a mistake is unlikely to have remained unnoticed.

12. This major occasion is known to have caused a lot of
argument.

13. This phenomenon does not seem to obey the general
law.

14. This solution is believed to be obviously absurd.

15. The preparatory work proved to be very slow and
difficult.

7. Translate from Russian into English.

1. Ilpennonaraor, 4TO CTYJEHT 3HaeT 3TOT
MaTeMaTHYECKUN 3aKOH.

2. DTOT TOAXOJ, TIOJArarT, JacT  OIpeeeHHBIC
MIPEUMYIIIECTBA.

3. Kaxercs, OH U3MEHWIJI CBOIO TOUKY 3PEHUSI.

4. Kaxercs, 3TOT dbaxT yKe 00BSICHUITN
COOTBETCTBYIOIINM 00pa3oM.

5. BpluncneHne oka3ajloch OY€Hb CIOKHBIM.

6. Tak cIydwII0Ch, 9YTO MOW TPEIOJaBATENh MPOUYEST ITY
CTaTblo.

7. ImMeroTcss cBeACHWS, YTO OHU COIJIACHBI C Hamel
TEOPUEH.

8. DTOT MPUHIHMIT OKa3aJICsl MPOTUBOIIOJIIOKEH MPHUHIIAITY,
MIPUBEJICHHOMY BBIIIE B ’TOM HCCJIEIOBAHUY.
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9. MOXXHO  TPEANONOXKHUTh,  4YTO  Kaxngas  JpoOb
IPECTaBISET COOOIA.

8. Change the sentences according to the model using the
Complex Subject pattern.

Model: It is believed that he is an efficient specialist. He is
believed to be an efficient specialist. CuuTaercsi, 4T0 OH ONBITHBIH
CIICIHNAJIUCT.

1. It is expected that they will detect the error. 2. It is
believed that he is very accurate in making calculations. 3. It is
known that they have foreseen all the possible mistakes. 4. It is
likely that he has given them explicit instructions. 5. It is unlikely
that they have supplied the laboratory with such complex
equipment. 6. It appears that they are unable to account for this
absurd situation. 7. It seemed that he was an experienced
researcher. 8. It happened so that the error was quickly detected. 9.
It appears that the law holds for all the equations. 10. It is unlikely
that most fundamental processes of arithmetic and algebra should
change a great deal. 11. It was expected that the students knew the
law. 12. It is known that these laws are applied to all kinds of
exponents. 13. It is expected that the students remember these
proportions. 14. It appeared that the procedure was appropriate. 15.
It seems that the computation is correct. 16. It appears that these
statements are mathematically correct. 17. It is expected that the
scientists will establish an appropriate pattern. 18. It is believed
that the result is of great importance. 19. It is expected that he will
speak on number relations. 20. It is unlikely that he will speak on
the coordinate system.

UNIT 11. FOR + INFINITIVE CONSTRUCTION

For + object + to — Infinitive
(Can be used in different functions).
a) The Subject (momnexarmee).
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It’s for you to decide what university to choose. Tebe
periaTh, KaKol YHUBEPCUTET BbIOPATH.

b) The Predicative (iMeHHas 4aCTh CKa3yeMoro).

The best thing to do is for us to come to an agreement.
Jlydiiee, 4TO Mbl MOXKEM CIENATh, 3TO MPUUTH K COTJIAILICHUIO.

¢) The Object (monoaHenue).

The conference called for the government to take measures
against growing unemployment.

Kondepenuus mnorpeboBana, YTOOBI  MIPaBUTEIBCTBO
MIPUHSIIO MEPHI IPOTUB pacTyIeld 0e3padO0THIIBI.

d) The Adverbial modifier of purpose (o0cTosiTenbcTBO
LEIIHN).

For the expected results to be obtained, we have to use the
computations. YtoObl MOJYYHTh OXKHIACMbIC PE3YJIbTAThl, MBI
JOJI?)KHBI UCITIOJIB30BAaTh 3TU BBIYUCJIICHUA.

e) The Attribute (ompenenenue).

The speaker proposed a new method for the experiment to
be carried out successfully.

BricTynaromuii npeanoKuia HOBbIM METOA I YCIELIIHOIO
BBIITOJTHCHHA SKCIICPUMCHTA.

1. Translate these sentences into Russian.

1. I must find somewhere for him to practice his English.

2. It’s important for the meeting to start at eight a.m.

3. It seems unnecessary for him to start his work this week.

4. It was a real shame for them not to have won after all
their attempts.

5. For us to fail the experiment now would be a disaster.

6. Two conditions must be met for the phenomenon to
occur.

2. Translate these sentences into English using the for +
Infinitive Construction.

I. MaremaTtukaM Ba)XHO MHOMHHUTb, YTO CTPOTHMUA METOJ
JICTYC ITOHATH.
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2. Bo3aMoxHO, uTO (urypa Oyaer uMeTh OoJblIe, YeM OJIHY
0Ch CHMMETpUH.

3. YroOBl 3TOT 3aKOH BBINOJHSIICA, HEOOXOIHUMO
COOJIIOIaTh JIBA YCIIOBHSL.

4. Tlotpebyercst Oonbllie SKCIEPUMEHTAILHON pPabOTHI,
YTOOBI MBI CMOTJIH OOBSICHUTB ATO SIBJICHUE.

5. Heob6xonumo, 4ToObI (PMHAHCOBBIE CIENKH (transactions)
B WHTepHeTe Obut  Oec3omacHbl. OJHAKO  CYIIECTBYET
orpeJiesieHHast mpoodiema.

6. JKusznmenno BaxHo (vital), d4YTOOBI cCymiecTBOBajIa
XOpomrasi cucTeMa OOIIECTBEHHOTO TpaHCIOpTa B  OOJBIIMX
ropojax.

3. Make up sentences about the mathematicians using the
same models with any of the given verbs: alleged, believed,
claimed, considered, known, reported, said,

supposed, thought and understood.

Models:

1. Marie Curie was thought to be the greatest scientist of
her generation.

2. She is known to have succeeded where all others had
failed.

3. It used to be said that she owed her success to her
husband Pierre.

L. Euler — a great geometer of 18th century;

—worked at the St. Petersburg Academy;

— dealt with analytic functions;

— was the first to solve the equation in three variables;

— his greatest discovery was the calculus of quaternion
(kBaTepHHOH).

P. Fermat — the greatest “amateur in the history of
mathematics™;

— enjoyed classical literature, wrote verses;

— inventor and discoverer of coordinate geometry;

— the proofs of his famous theorems are not obtained;
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— his books were not lost after his death.

W. P. Hamilton — one of the greatest scientists;

— at the age of 21 submitted to the Royal Irish Academy a
paper

“A Theory of Systems of Rays”;

— when an undergraduate was elected to the chair of
Professor

of Astronomy at Trinity College;

— devised math tools for the exploration of physical space;

— thanks to his mathematical tools the subject of vector
analysis appeared.

UNIT 12. CONDITIONAL SENTENCES

1. State the type of the conditional sentences and translate
them.

1. If you work hard, you’ll be able to finish your work in
time.

2. If it is not raining, we shall play football.

3. If he had time, he would do the work.

4. If she were more attentive, she would not make so many
mistakes.

5. If I had known your telephone number, | should have
phoned you.

6. If he had gone to the station an hour ago, he wouldn’t
have missed the train.

7. You will not solve this problem unless you know the
Viet’s theorem.

8. If it were not so late, we would continue our debates.

9. If you follow the advice of the teacher, you will save a
lot of time.

10. If I had understood the importance of learning English
earlier, | should have taken part in the international scientific
conference for young scientists.
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2. Complete these sentences following one of the patterns
for conditionals of Type 1.
. We’ll just manage to find the correct solution if ... .
. If I see him again, I ... .
. I will accept your explanation only if ... .
. If you tell me the truth, I ... .
. What will happen if ... .
. If your work harder, ... .
. If you don’t reserve the ticket, ... .
.Ifit rains, ... .
. If you are hungry, ... .

O 01NN W —

3. Complete the sentences following the pattern of Type 2
conditionals.
. If you explained the situation to your friend, he ... .
2. Perhaps he... if you spoke to him.
3. If you changed your job, you ... .
4. If they came to see us in London, we ... .
5
6
7

—

. If you read the book a second time, you ... .
IfIwereyou,I....
. If they had more money, ... .

4. Write sentences following the pattern of Type 3
conditional based on the given facts.

Model: The driver was not careful enough last Sunday, the
accident happened.

If the driver had been more careful last Sunday, the
accident wouldn’t have happened.

1. As you didn’t explain your problem to me, I wasn’t able
to help you.

2. She didn’t read the book, she couldn’t discuss a new
novel.

3. We didn’t take a map, we didn’t find the hotel quickly.

4. You didn’t invite him, he didn’t come to the party.

5. I didn’t know you were arriving on the train, I didn’t
meet you.

6. He missed the seminar, he was not told about it.
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5. Translate into English.

1. Eciu Mbl onpefiennuM KpHUBYHO, Mbl HalJleM YpaBHEHUE
F€OMETPUYECKOT0 MECTA TOUCK.

2. On ObI MOMOT BaM, ecJix Obl OH OBLII B TOPOJIE ceifuac.

3. Ecnu OBl 51 3HaNA ee 3JIeKTPOHHBIN aapec, s Obl Hamucana
€l HeMEUIEHHO.

4. Ecnu Obl Hamia cTyneHYecKasi TPyIa IpHHsIIA yIacTHe
B CIOPTUBHBIX COPEBHOBAHUAX BUEpa, Mbl Obl 3aHSUIM MEPBOE
MECTO.

5. S Obl B3s1 Takcu, ecid OBl 3HAJ, YTO y HAc MaJio
BpPEMCHH.

6. Ecim OBbI 51 XOpOIIIO 3HAJl aHTJIMUCKUH, 1 OBl YMTAIl BCIO
HOBYIO HaYYHYIO JIUTEPATyPy MO-aHTITHICKH.

7. Bama komaHga o00s3aTeNbHO BBIMTPAET CIEAYIOLIUI
MaT4, €CJIA BBl Oy/IeTe MHOTO TPEHUPOBATHCS.

8. Ecim ObI 51 ObLT Ha Bamiem MecTe, s1 Obl HE MPOCHI €0
MIOMOYb, a TTOCTAPAIICS OBbI CIPABUTHCS C TPYAHBIM 33JAHUEM CaM.

9. Ecnu oHa He CMOXXET MPUMTU cama, OHA MO3BOHUT IO
Tenedony.

10. Ecnm Ol OH MOr MOJYYUTh HEOOXOAUMYIO
uH(popManuo BuYepa, OH ObI cKa3al HaAM O CBOUX IIJJaHaX Ha
BBIXOJHOM JICHb.

Mixed Conditionals

All types of conditionals can be mixed. Any tense
combination is possible if the context permits it.

Write mixed sentences based on the given facts, use the
table given above.

1. He failed his examination last year, so he is taking it
again in June.

2. Since you didn’t take my advice, you’re in a difficult
position now.

3. There was a sharp frost last night, so we are able to go
skating now.
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4. She isn’t at the meeting because she wasn’t told about it.
5. 1 didn’t apply for the job as I don’t want to work there.

6. He is not a fast runner, so he didn’t win the race.

7. She didn’t save her money, so she isn’t going on holiday.

Inversion

We can omit if in conditional sentences. When we do that,
should, were, had (Past Perfect) and could come before the
subject.

If he were here, he would help us. Were he here, he would
help us.

If I should see him today, Il tell him to call you.

If he were here now, we could work together.

If I had known about that matter, | would have told him
yesterday.

Should I see him today, I’ll tell him to call you.

Were he here now, we could work together.

Had | known about that matter, | would have told him
yesterday.

1. Rewrite the sentences making an inversion in the
conditional clauses.

Model: If he should come, give him my letter. Should he
come, give him my letter.

1. The talks will continue if the need should arise.

2. If you should be late again, you’ll lose your job.

3. If he had taken a little more time to think, he might have
acted more sensibly.

4. If it were not for the price of the ticket, | would go there
by plane.

5. If he had known the news, he would have told us.

6. If I were you, I wouldn’t buy such an expensive iPhone.

7. If you should drink too much coffee, you won’t be able
to sleep.
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2. Translate the following sentences.

1. Were these words synonyms, you could use either of
them.

2. Had I known the facts better, | should have made a new
test.

3. Were he not so tired, he would continue his work.

4. Had you taken part in our experiment, you would have
helped us a lot.

5. Were she good at mathematical analysis, she would be
able to solve some of these problems.

6. Should he come to the laboratory, tell him to leave his
notes there.

7. Had the students of our group attended all lectures and
seminars, the results of the examination in functional analysis
wouldn’t have been so bad.

3. Answer the questions.

1. What will you do next Sunday if the weather is fine?

2. Where would you go if you were free now?

3. Would your favourite football team have won the last
match if the football players trained more?

4. Will you study German if you have enough time?

5. Will you speak English better if you watch a lot of
foreign films in English?

6. Who will you ask to help you if you can’t translate the
article yourself?

7. What places of interest would you visit in London if you
had an opportunity to go there?

8. How long can you stay in the south if you go there in
summer?

9. What present would you buy to your mother if it were
her birthday tomorrow?

10. Will you go to the station by underground or will you
take a taxi if you have little time?

11. Will he improve his health if he goes in for sport?
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4. Say the same in a different way using conditional
sentences. See the model.

Model: If it were not for the works of the preceding
scholars, the scientists of the following generations would not have
made their discoveries.

But for the works of the preceding scholars, the scientists of
the following generations would not have made their discoveries.

Ecnim  Ob1 He Tpyasl YY€HBIX MPONUIBIX  BpPEMEH,
COBpPEMEHHBIEC YUEHBIE HE CMOTJIM OBl ClIeaTh CBOM OTKPBITHSI.

1. If it were not for a trifling error, the experiment might
have been a success.

2. But for Babylonian and Mesopotamian mathematicians,
Alexandrian scholars would not have achieved such remarkable
results.

3. If it were not for the unreliable equipment, there would
be fewer mistakes in print. 4. But for the absurdity of the solution,
we might not have noticed the error.

5. If it were not for the discovery of logarithms, the
scholars of the 18th century would not have been able to make
such great and successful advances.

6. But for Kepler’s enthusiasm, the tables of logarithms
would not have so rapidly spread.

7. But for mathematics, the present-day achievements in
science and technology would have been impossible.

8. If it were not for the greatest discoveries of world-
famous scholars, our life would not be so comfortable as it is now.

9. But for the computer, many sciences would not have
advanced so far.

5. Follow the model and insert the required form of the
verb.

Model: It would be helpful if you (to find) the article. It
would be helpful if you found the article.

1. It would be natural if they (to give) you their data.
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2. It would be useful if they (to see) how you worked.

3. It would be natural if they (to stimulate) the research.

4. 1t would be very helpful if she (to make) these
calculations.

5. You would solve this problem if you (to find) the value
of the unknown. 6. They would improve the situation if they (to
suggest) some modification.

7. He would be sure of the result if he (to check) it.

8. It would be easier to make a correct conclusion if they
(to describe) the process in greater detail.

9. You would understand his work in case you (to know)
the work of his predecessors in this area.

10. We would have a better situation if he (to clarify) his
statement.

6. Read and translate the text.

AT THE ZOO.

One day a man went to the Zoo with a bag of nuts. He
stopped near three cages of monkeys and decided to give them all
the nuts in the bag.

“If I divide the nuts equally among the eleven monkeys in
the first cage,” he thought, “one nut will remain. If I divide equally
among the thirteen monkeys in the second cage, eight nuts will
remain. If I divide them among the seventeen monkeys in the third
cage, three nuts will remain. And if | divide the nuts equally
among the forty-one monkeys in all three cages or among the
monkeys in any two cages, some nuts will remain too. How can | |
divide them so that none will remain?”

Could you help the man to divide his nuts among the
monkeys?
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UNIT 13. THE SUBJUNCTIVE MOOD

The Subjunctive Mood shows that the action or state
expressed by the verb is presented as non-fact, as something
imaginary, or desired. The Subjunctive mood is also used to
express an emotional attitude of the speaker to real facts.

Subject Clause Expresses

It is necessary Heobxooumo,

It is important (recommended, advisable, requested,
probable, strange, etc.)

Baoicno, that you (should) make a report.

umooOwl 8bl coenaiu 00KIao.

Supposition

Necessity

Probability

Order

Purpose

Advice

Obiject Clause

I demand/demanded (order, advise, insist, suggest, require,
propose, etc.) that they (should) work together.

A mpebyro/nompebosan, ymodwvl oHu pabomanu emecme.

1. Translate the sentences into Russian.

1. It is extremely important that you should carry out as
many exercises as possible, no matter how trivial some of them
may seem.

2. It is essential that the students should know all the rules.

3. | demand that they employ the differential calculus to
deal with curves and surfaces.

4. He suggests that we deduce the properties of the curves
involved by algebraic equations.

5. It is requested that the researcher (should) complete the
calculations next week. 6. He advised that the students (should)
inscribe a regular n-gon in a circle.
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7. She proposed to her groupmates that they (should)
discuss the topics of the term papers.

In Object Clause, introduced by the conjunction lest we
use should for all persons.

She fears (feared) lest her secret should be discovered.

Ona boumcs, umobwl ee cekpem He Obll PACKPLLM.

Object Clause (after wish)

Unreal Present

I wish (if only) + Past Tense

Use

I wish (if only) you worked more efficiently. 4 6u1 xomen,
umobwl 8vl pabomanu bonee

aghgpexmueHho.

We wish (if only) we were not so busy now. Eciu 6wl
MOAbKO Mbl He ObLIU MmakK 3aHAmMbL celyac.

Regret about the present situation

I wish | could drive a car. JKanb, umo s ne ymero 60oums
MAUUHY.

Regret in the present concerning lack of ability

Unreal Past

I wish (if only) + Past Perfect

I wish | had attended the seminar yesterday. JKaus, umo s
He npulieil Ha cemurnap euepa.

Regret that something

happened or didn’t happen in the past

I wish (if only) + subject + would + Indefinite

Infinitive

I wish he would calculate more carefully. Xomenocw 6v1,
ymoobl 6bl Oendnu 6blYUCIeHUsA DoNee GHUMAMENbHO.

I wish it would stop raining.

A 6b1 xomen, umoobL 00XHCOb NPEKPAMUIICAL.

Wish for a future change

unlikely to happen, or annoyance

81



2. Translate the sentences from English into Russian.

1. I wish I knew the dimension of the body to calculate its
volume.

2. | wish they had solved the three famous construction
problems under the specified condition.

3. I wish I had written the test better, | have to revise the
material again.

4. 1 wish he would stop working, he is very tired.

5. I wish I could understand the theory better.

6. 1 wish a new experiment would be started in our
laboratory this month.

7. If only | were as good as you at mathematics.

8. I wish I had invited more people to the party.

9. If only you had taken his advice when he gave it.

Attributive clauses modifying the now “time” in the main
clause

It is (high, about) time... Ilopa... (0asHo nopa, yace nopa)

It is time we left for the University, our classes start at
8.15. Ilopa yxooumv 6 yHuUsepcumem, HaAwU  3AHAMUSL
Hauunaromes 6 8.15.

1. It’s time we went there.

2. It’s time you learnt you’re a student of Mechanics and
Mathematics Faculty.

3. It’s high time you made up mind!

4. It’s about time you obtained the expected result.

Comparison clause (as if ..., as though ...)

Itis as cold as if it were winter.

XonooHo, kak 6yomo ceuyac 3uma.

He looks as if he were very tired. On svienssoum max, xkax
ecnu 6bl OH 04eHb YCMAl.

Present

He spoke as though she had known about it long before
that day.

On eosopun, Kak eciu Obl OH 3HAL 00 5MOM 3A00]120 00
9M020 OH3L.
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Past

Had better = should

| had better + Present Infinitive

You had better give up smoking.

Bam 61 iyuwe opocums Kypume.

Present, Future reference

It would have been better if + Past Prefect

It would have been better if you hadn’t said that. beiro 6w
Jqyvute, eciu Obl 6b1 3MO He 20B80pPUTIU.

Past reference

Would rather = I’d prefer

I’d rather smb. + Past Simple

I’d rather smb. + Past Perfect

I’d rather you studied a little harder. Jlyuuse 6b1 661

VUUNUCL HEMHO20 YCcepoHee.

I’d rather you had read the book last term. Jlyuwe

Obl 8b1 NPOYUMATIU IMY KHUSY 8 NPOULOM ceMecmpe.

Present, Future reference

Past reference

3. Translate the sentences from English into Russian.

1. I wish I weren’t having my final test tomorrow. 2. I’d
rather you hadn’t spoken so rudely to him. 3. The man speaks as if
he had never heard of this country. 4. He acts as though he owned
the house. 5. It’s time we went to the students’ canteen. 6. | had
better obtain the necessary information using the Internet. 7. He
looks as if he were impressed by the news. 8. The teacher advised
that the students discuss the material in detail. 9. I’d rather you
didn’t keep asking me every time you have a problem. 10. We
worked slowly lest the task should have many mistakes.

4. Put the verbs into the correct form.
1. We’d better (to take) some money for a taxi in case we
(to miss) the last bus home. 2. Would you rather (to write) in ink
or in pencil? 3. I’d rather you (not/ mention) this anyone until next
week. 4. He didn’t win the prize, but the looked as though he (to
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win) one. 5. It’s about time you (to go) on holiday. 6. Helen went
to France this year, but she says she would rather (to go) to Spain.
7. You had better (not to speak) to me like that again. 8. I wouldn’t
argue with her if I (to be) you. 9. If only I (not to drink) so much
coffee. 10. I wish I (to listen) to you but I didn’t. 11 It’s essential
that these conditions (to be satisfied).

5. Translate from Russian into English.

1. BaxHo, 4TOOBI CTYJEHTH pabOTali B KOMIBIOTEPHBIX
kiaccax. 2. CTpaHHO, 4YTO OH Bcerja onasjabiBaeT. 3. XKenarenbHo,
9TOOBI BBl BBHITIOJHIJIM JTO 3aJaHWEe Kak MOXHO ckopee. 4. Sl
HacTauBalo, 4YTOObl BBl HamUcallu 3Ty craThio. 5. XKainb, 4TO 1 He
3HA 00 3TOW HayyHOW KOH(EpeHIHH, S Obl XOTEN IOCIYIIATh
JOKJIaJIbI 110 AHATUTUYECKOM reoMeTpuu. 6. OH BBITTISAUT TaK, KaKk
ecyi Obl OH MPOBEN CBOU OTITYCK Ha fore. 7. [Topa Obl 3HATH Takue
npocteie uctunbl! 8. Thl OB JTydllle Kymuia OUNET Ha ATOT KOHIEPT
3apanee. 9. S Obl peanoyen mMooObITH ceiuac oquH. 10. Ax, eciu
OBI TOJIBKO 5 TOTJIa C/IeJIajl MPaBHIIbHBINA BEIOOD!

. Complete the sentences.

. It is probable that the question ... .
.IfIwereyou....

. I’ll dictate slowly lest you ... .
.Itseemsasif....

. I'shall go to the theater with pleasure unless ... .
. It’s time they ... .

AN AW~ O

7. Translate the sentences from Russian into English, use
the Subjunctive Mood.

1. IlpoBepbTe pemieHre ATON 3a/auu, YTOObl HE MOTYYUTh
HEBepHBIN pe3ynbTaT. 2. OH IpeIoKII, YTOOBI OHH PACCMOTPENN
MHOTOYT'OJIbHUKH, TaK KakK 3TOT THUIl T€OMETpUYECKUX Quryp
OUEHb BAXEH IpPU M3yuyeHUM reomerpuu. 3. JKamab, 4yTO MBI HE
WCKJIIOUMJIM HEU3BECTHbIE, Mbl CMOIJIM ObI PEIIUTh 3Ty CHUCTEMY
ypaBHeHMH. 4. UTOOBI COCTaBUTh ypaBHEHHE JaHHOW KPHBOH,
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OIIpEelIe]IUM Te€OMETpUYECKOe MecTo ToueK. 5. Ilopa BBeCTH OHO-
napaMeTpruuecKkoe CEMEICTBO KpUBBIX Ha MOBEepXHOCTH S. 6. Ham
ClIeIyeT MPEeACTaBUTh JaHHbIE KPUBbIE AaHATUTHUECKU C TTOMOIIBIO
cucteMbl ypaBHeHHi. 7. Heo6xoaumo, 4ToObI YacTh MOBEPXHOCTH
HE cojieprkana ocoObIx Touek. 8. Ham Obl X0TeI0Ch, YTOOBI B 3TOM
ciydae sitkobuaH cTpeMuiics K Hymo. 9. beuto Obl srydiie, eciu Ob
OJIMH U3 MMapaMeTPOB MEHSUICA, B TO BpeMs Kak APYroil ocraBaics
MTOCTOSIHHBIM.

UNIT 14. DIRECT AND INDIRECT SPEECH

1. Use the general questions below in indirect speech.
Follow the model.

Model: Did the hypothesis prove to be correct? You’ve
asked me if the hypothesis proved to be correct

1. Does the image of a man usually accompany his name?

2. Is there a connection between the works of
mathematicians of all times?

3. Do you visualize a man when hearing his name?

4. Was the theory of relativity a turning point in physical
thinking?

5. Has Fermat’s last theorem been proved?

6. Was the hypothesis based on the wrong assumption?

7. Does the new method have any advantages over the
old one?

8. Do these two phenomena have anything in common?

9. Does he seem to have changed his point of view?

10. Do the results which have been obtained agree with the
results that were expected?

11. Did you hear him speak at the conference?

12. Does this law hold for all similar cases?

13. Did you see him switch off the computer?

14. Was Christopher Columbus the first to have travelled
from Europe to America?
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15. Was your purpose to gain some time?

16. Will you make a report at the seminar?

17. Did you wish to express the same idea in a different
way?

18. Did Einstein develop an absolutely new idea of the
world we live in?

2. Use the questions in indirect speech following the
model (Sequence of Tenses).

Model: 1. They said, “We will go to the South”. They said
that they would go to the South.

2. She said, “I have done the test.” She said that she had
done the test.

3. They said, “We saw the film two years ago.” They said
that they had seen the film two years before.”

4. He said, “I am taking driving lessons.” He said that he
was taking driving lessons. 5. She said, “I was reading for the
exam at that time.” She said she had been reading for the exam at
that time.

6. He said, “I am working on my diploma paper project.”

7. She said, “I haven’t been to the lecture.”

8. They said, “We won’t come to the party.”

9. He said, “We have installed a new antivirus program”.

10. He said, “I wrote the article three years ago.”

11. They said, “We won’t go to France.”

12. He said, “I was working at five o’clock.”

13. She said, “I have been waiting for you since three
o’clock.”

14. They said, “The lecture will be held in the assembly
hall.”

3. Use the imperative sentences in indirect speech.
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Model. 1. Don’t contradict him. You’ve told me not to
contradict him.

Come at 8.30, please. You’ve asked me to come at 8.30.

1. Don’t change the conditions of the experiment.

2. Use the rule that you have learnt today.

3. Don’t postpone the discussion.

4. Speak louder, please.

5. Don’t go into details.

6. Read and memorize the terms.

7. Don’t continue working until you process the obtained
results.

8. Don’t apply the same rule for the two different
procedures.

9. Use the same words to denote the same notions.

10. Don’t fail to switch off the printer.

11. Read the task carefully so as to avoid the possible
errors.

12. Don’t test the new method without being given
additional time.

13. Copy out the new words.

14. Don’t start working on the project without speaking to
the head of the laboratory. 15. Don’t sign the contract until you
have read it to the end.

4. Turn direct speech into reported speech.

1. Plato advised, "The principal men of our state must go
and learn arithmetic, not as amateurs, but they must carry on the
study until they see the nature of numbers with the mind only."

2. Descartes, father of modernism, said, "All nature is a
vast geometrical system. Thus all the phenomena of nature are
explained and some demonstration of them can be given.”

3. In Descartes's words, "You give me extension and
motion then I'll construct the universe.”
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4. The often repeated motto on the entrance to Plato's
Academy said, "None ignorant of geometry enter here."

5. J. Kepler affirmed: "The reality of the world consists of
its maths relations. Maths laws are true cause of phenomena. "

6. 1. Newton said, "I don't know what | may appear to the
world; but to myself |1 seem to have been only like a boy playing
on the seashore, and diverting myself now and then by finding a
smoother pebble or a prettier shell than usual; whist the great
ocean of truth lay all undiscovered before me. If | saw a little
farther than others, it is because | stood on the shoulders of giants™.

UNIT 15. PREPOSITIONS

1. Fill in each blank with an appropriate preposition: of,
to, in, at, through, with, on. One preposition can be used several
times.

. our modern world, mathematics is related ... a very
large number ... important human activities. Make a trip ... any
modern city, look ...the big houses, plants, laboratories, museums,
libraries, hospitals and shops, ... the system ... transportation and
communication. You can see that there is practically nothing ...
our modern life which is not based ... mathematical calculations.

. co-operation ... science, mathematics made possible our big
buildings, railroads, automobiles, airplanes, spaceships, subways
and bridges, artificial human organs, surgical operations and
means of communication that in the past seemed fantastic and
could never be dreamt ....

2. Fill in each blank with an appropriate preposition: in,
to, among, of, for, into, at. One preposition may be used several
times.

1. Mathematics ranks ... the highest cultural developments
.. man.
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2. Mathematical reasoning is ... the highest level known ...
man.

3. Mathematical style aims ... brevity and perfection.

4. Arithmetic, geometry, and astronomy were to the
classical Greece music ... the soul and art ... the mind.

5. Most mathematicians claim that there is great beauty ...
their science.

6. ...1933, George Birkhoff, one ... the most distinguished
mathematicians ... his generation, attempted to apply mathematics

.. art.

7. Joseph Fourier showed that all sounds, vocal and
instrumental, simple and complex, are completely describable ...
mathematical terms.

8. Each musical sound, however complex, is merely a
combination ... simple sounds.

9. Thus, thanks ... Fourier, the nature ... musical sounds is
now clear ... us.

10. The role of mathematics ... music stretches even ...the
composition itself.

11. Masters, such as Bach, constructed and advocated vast
mathematical theories ... the composition ... music.

12. ... such theories, cold reason rather than feeling and
emotions produce the creative pattern.

13. Through Fourier’s theorem, music leads itself perfectly
... mathematical description.

14. Hence, the most abstract ... the arts can be transcribed
... the most abstract ... the sciences.

3. Choose the right preposition. Make sensible
sentences.

1. Are you interested On a. disturbing you.

2. She is very good b. looking after the children.
3. He insisted Of c. learning foreign

4. | apologize languages.
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5. The teacher is fed up To d. having more time for

6. She succeeded doing things he wants to.
7. My friend is keen At e. understanding this — it’s
8.Professor is looking too difficult.
forward In f. answering our stupid
9. This student is not questions.
capable With g. studying.
10. His sister is tired h. considering his solution
For  of the problem.
i. doing sums.

J. getting good education.

UNIT 16. CHECK YOUR VOCABULARY

1. Fill in the gaps using the words / forms of the words
given below.

(a) basic tool — (b) represent — (c) number — (d)
representation — (e) organization — (f) originate — (Q)
insolvability —(h) set — (i) change — (j) exist

1. There are many properties of Euclid’s powerful
algorithm which has become a ... (1) ... in modern algebra and
number theory.

2. Euclid’s algorithms for finding the greatest common

divisor of ... (2) ... — is the best illustration.

3. In all branches of mathematics, the task to prove the
solvability or ... (3) .. of any problem requires a precise
algorithm.

4. In computer science, the emphasis has now shifted to the
study of various structures by which information ... (4) ....

5. It is precisely these features of algorithms that
sometimes make algorithms models more suitable than traditional
mathematical models for the ... (5) ... and ... (6) ... of knowledge.

6. The word algorithm itself ... (7) ... in the Middle East.
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7. An algorithm is a ... (8) ... of rules or directions
(instructions) for getting a specific output from a specific input.

8. The algorithm itself is a mental concept that ... (9) ...
independently of any representation.

9. The rapid rise of computer science, which has the study
of algorithms as its focal point, has radically ... (10) ... the fate of
the term algorithm: its use has become essential.

2. Complete the following sentences with one of the words
given below.

(a) recognition — (b) simplicity — (c) originally — (d)
convenient — (e) advantages — (f) problems — (g) descendent —
(h) reasonable — (i) variety

1. An indirect address allows great .. (1) .. in
programming.

2. The PASCAL programming language was ... (2) ...
developed by Niklaus Emil Wirth.

3. Symbolic and automatic coding languages are more
similar to English, so they are more ... (3) ... for the use of the
programmer.

4. ALGOL was developed as an international language
which gained more ... (4) ... in Europe than in the United States.

5. The ... (5) ... of using GLOBOL are that it is simple in
learning, programs can be quickly written and tested.

6. The idea of an automatic computer that would not only
add, multiply, subtract, and divide but perform the sequence of ...
(6) ... operations was given by the English scientist Charles
Babbage.

7. PASCAL is noted for its ... (7) ... and structured
programming design.

8. ADA is a PASCAL-based language designed for both
commercial and scientific ... (8)....
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9. PASCAL, which was named after the mathematician
Blaise Pascal, is a direct ... (9) ... from ALGOLG60, which Wirth
helped to develop.

3. Choose the variant that suits best.

1. A programming language is a language

a) a language generated by a programmer

b) spoken by the programmers

c) specially designed to communicate instructions to a
computer

2. A mnemonic machine language uses:

a) the numeric code

b) symbols, such as letters and numbers

¢) symbolic addresses

3. An assembly language has the following advantages for
the programmer’s use:

a) it is a low level language

b) the processes of reading and introduction of data are
made easier

C) it uses numeric names

4. Symbolic and automatic coding languages are more
convenient for

a) the computer

b) the programmer usages

¢) English speaking users

5. The machine code, or auto code can be ... by a computer
without translation. a) stored b) immediately obeyed «c)
sequentially retained

4. Answer the questions:
1. Are the students to study the uniqueness property at the
lesson? (the closure)

2. Was he able to give the proof? (the general definition)
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3. Were the scientists to consider the plan of their future
work at the conference? (the results of the recent experiment)

4. Did you have to discuss one of the articles? (both)

5. Does he have to summarize the results of the research
work of the department? (of our laboratory)

6. Were you able to notice the difference between these
two methods? (their similarity)



Infi-
nitive

be

beat
become
begin
bend
bet

bite

ENGLISH

Past
Simple

was,
were

beat
became
began
bent
bet

bit

IRREGULAR VERBS
Past
Participle IlepeBoa
been OBITh, SBJISTHCS

beaten
become
begun
bent
bet

bitten
94

OHUTB, KOJIOTUTD
CTaHOBUTHCS
HaYHHATh
THYTh

JIepKaTh Mapu

Kycarb



Infi-
nitive

blow

break

bring

build

buy

catch

choose

come

cost
cut

deal

Past
Simple

blew

broke

brought

built

bought

caught

chose

came

cost
cut

dealt

Past
Participle

blown

broken

brought

built

bought

caught

chosen

come

cost
cut

dealt

95

IlepeBon
IyTh, BBIJABIXaTh

Jomarb, pa3OuBaTh,
pa3pyuarb

IIPUHOCHTb,
IIPUBO3UTb,
JOCTaBIIATh

CTPOUTH, COOPYIKATh

MIOKYTIATh,
npuoOpeTaTh

JIOBUTD, IIONIMATh,
CXBaTUTh

BBIOMpATh, U30UpATh

IpUXOANTH,
MNOAXOIUTH

CTOHUTDH, 00XOIUTHLCS
pe3artb, pa3pe3arhb

HMETH JIENO0,
pacnpenenarb



Infi-
nitive

dig
do
draw
drink
drive

eat

fall
feed
feel

fight

find

fly

forget

Past
Simple

dug
did
drew
drank
drove

ate

fell
fed
felt

fought

found

flew

forgot

Past
Participle

dug
done
drawn
drunk
driven

eaten

fallen
fed
felt

fought

found

flown

forgotten

96

IlepeBon
KOHaTB,prE
JIeJIaTh, BBIIOIHATh
pucoBarh, YEPTUTH
IINTH

€31UTh, IOABO3UTH

€CTh, IIOIJIONIATh,
moeaaTh

najaTh
KOpPMUTH
YyBCTBOBATh, OLLYLIATh

JIpaThCsl, CPAXKATHCA,
BOEBATH

HAXOJIUTh,
0oOHapy>KUBaTh

JETaTh

3a0bIBaTh O (4EM-TTHO0)



Infi-
nitive

forgive
freeze
get
give
go
grow

hang

have
hear
hide
hit

hold

hurt

Past
Simple

forgave
froze
got
gave
went
grew

hung

had
heard
hid
hit

held

hurt

Past
Participle

forgiven
frozen
got
given
gone
grown

hung

had
heard
hidden
hit

held

hurt

97

IlepeBon

MPOIIATh

3amep3aTh, 3aMHpaTh
MoJy4arb, 100UpaTbes
JaTh, IOAATh, TaPUTh
WJITH, IBUTaThCS
pacTtu, BeIpacTaTh

BCIIATh, PAa3BCIINBATD,
BHUCETH

HMETh, 00JIaaTh
CIIBIIIATH, YCIBIIIATh
MpSTaTh, CKPHIBATH
yIapsTh, MOPaKaTh

JIEpKaTh, YACPKUBATh,
3a/Iep’KUBaTh

paHUTh, TPUUUHSTH
00JIb,
YIIHOUTH



Infi-
nitive
keep
know

lay

lead

leave

lend

let
lie

light

lose

make

Past
Simple
kept
knew

laid

led

left

lent

let

lit

lost

made

Past
Participle
kept
known

laid

led

left

lent

let
lain

lit

lost

made

98

IlepeBon

XPaHWUTh, COXPAHATH,
IO ICPKUBATH

3HaThb, UMCTh
npeaACTaBJICHUC

KJIaCTh, IIOJOXKHUTh,
TTOKPBIBATh

BECTH 3a CO0Oi,
COIIPOBOKIATh,
PYKOBOJUTH

MOKUAATh, YXOIUTh,
y€35KaTh, OCTaBJIATh

OJlaJKUBATD,
JlaBaTh B3alMbl (B J10JIT)

MI03BOJISITh, pa3pelaTh
JeXKaTh

3aXurarb, CBETUTLCA,
OCBCIIaTh

TEPSITh, TUIIATHCS,
yTpauuBaTh

A€1aTh, CO31aBaTh,
MU3roTaBJIMBATH



Infi-
nitive

mean

meet

pay

put

read
ride
ring

rise

run

say

see

seek

Past
Simple

meant

met

paid

put

read
rode
rang

rose

ran

said

Saw

sought

Past
Participle

meant

met

paid

put

read
ridden
rung

risen

run

said

Seen

sought

99

IlepeBon

3HAYUTh, IMETh B BUIY,
1oJIpa3yMeBarTh

BCTpPCYATh, SBHAKOMUTHCA

IJ1aTUTh, OIlJIAYMUBATh,
PacCUUThIBATLCA

CTaBHUTh, IOMCIIATD,
KJIaCTb

4YnuTaTb, IPOYUTATH
€XaTb BCPXOM, KAaTaTbCsA
3BCHCTH, 3BOHUTH

BOCXOJINTh, BCTABaTh,
MMOJHUMAThCS

Oexxarth, Oerath

TOBOPHTH, CKA3aTh,
MIPOU3HOCUTH

BUJIETh

HCKaTb, Pa3bICKUBAThH



Infi-
nitive

sell

send

set

shake

shine

shoot

show

shut

sing
sink
sit

sleep

Past
Simple

sold

sent

set

shook

shone

shot

showed

shut

sang
sank
sat

slept

Past
Participle

sold

sent

set

shaken

shone

shot

shown, sho
wed

shut

sung
sunk
sat

slept

100

IlepeBon
Mpo/1aBaTh, TOPTOBATH

IMOChbLIATh, OTIIPABJIATD,
OTChLIIaTh

YCTaHAaBJIUBATD,
3agaBaThb, Ha3HaA4aThb

TPSICTH, BCTPSIXUBATh

CBETHUTD, CHUSTh,
03apsTh

CTPCIIATDh

IIOKa3bIBATh

3aKpbIBaTh, 3alIUPaTh,
3aTBOPATH

IIE€Th, HAIIEBATh
TOHYTb, IIOIPYKaTbCs
CUJIETh, CAIUTHCS

CIiaThb



Infi-
nitive

speak

spend

stand
steal
stick

strike

swear

sweep

swim
swing
take

teach

Past
Simple

spoke

spent

stood
stole
stuck

struck

swore

swept

swam
swung
took

taught

Past
Participle

spoken

spent

stood
stolen
stuck

struck,
stricken

sworn

swept

swum
swung
taken

taught

101

IlepeBon
TOBOPUTb,
pasroBapuBarth,

BBICKA3bIBaThCA

TPaTUTh, PACXO0BaTh,
MIPOBOJUTH (BpEMSI)

CTOATH
BOpOBaThb, KPaCTb
BTBIKATb, IIPUKIJICUBATDH

yIapsiTh, OUTH,
opaxxarthb

KIFICTBCA, IIPUCATATD

MCCTH, IOAMCTATh,
CMaxuBaThb

IJ1aBaTh, IUIBITh
KavaTbCsi, BEPTETHCS
OpaTh, XBaTaTh, B3ATh

y4UTh, 00y4YaTh



Infi-
nitive

tear

tell

think

throw

under-
stand
wake
wear
win

write

Past
Simple

tore

told

thought

threw

under-
stood

woke
wore
won

wrote

Past
Participle

torn

told

thought

thrown

understood

woken
worn
won

written

102

IlepeBon
pBaTh, OTPHIBATH

PacCKa3bIBATb

JlyMaThb, MBICIIUTb,
Pa3MBIILUIATh

OpocaTb, KH/1aTh,
METaTh

IIOHUMAaTh, I1IOCTUTAaTh

npochIIaTbes, OyIUTh
HOCHTD (OJIEKY)
no0eInTh, BHIMTPATh

nucaThb, 3alIMCbIBATh
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